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Abstract

These notes are intended for a one semester course (30 hours for theory and 15
hours for exercises) at the graduate level.
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1 Introduction, relativity (45min)

These notes will get changed and improved continuously. It is a short review of what was
lectured, with the exception of the sections marked with asterisk. These are written for a
reader who would like to know more about quantisation via the path integral. For more
detailed descriptions and derivations one should take for example the book of Ryder [1],
which, skipping few sections, is of the right length and deepness for a one semester course.
For those particularly interested I would recommend the book of Peskin and Schroeder
[2], or for example the notes of Siegel [3], which are for free on the net (they are very long
though), or Weinberg [4, [5]. Of course, for arbitrary information on particle physics it is
recommended to use INSPIRE [6] and for daily news (new papers) [7].

During the lectures we will almost always keep the convention ¢ = 1 and A = 1. This
is nothing else than the choice of particular units. In this convention mass and energy
have for example the same unit, which is usually chosen to be GeV (gigaelectronvolt=10?
eV), while time and distance have the unit GeV~!. Changing these units into the usual
ones is very simple: we multiply the quantity written in the ¢ = 1 and A = 1 units by
proper powers of /& and c.



1.1 Motivation and goals

During the undergraduate study of physics one gets used to both quantum mechanics and
relativity (here and in the following we think always about special relativity), although
separately. In particle physics we are fast coming close to speed of light. Quantum
mechanics without relativity is thus very fast incomplete. The purpose of this course is
to learn how to compute measurable physical quantities as the cross section and decay
width in a relativistic invariant way.

1.2 Lorentz transformations

The essence of relativity are the Lorentz transformations. We will derive them as rotations
in 4-dimensional spacetime (the time z° and spatial coordinates z*, in short z®). Indices
with latin letters will denote spatial coordinates and will run from 1 to 3, while indices
with greek letters will run from 0 to 3.

Let’s remind first how we describe rotations in a plane (2-dimensional space). They

are simply
x’ cosa  sina\ [z
(y/) - <— sin « Cosa) (y> (1.1)

The rotation matrix can be written (check it!) in an apparently strange way as

0= < cosa Sino‘) — exp (iaT) (1.2)

—sina cosw

where we call the matrix

T—_i (_01 (1)) (1.3)

the generator of rotations in 2-dimensional space. The matrices are representations
of the Lie group SO(2). This is a Lie group because the parameter « is continuous, while
SO(d) in general means orthogonal (OOT = OTO = I) rotations in d-dimensional space
with unit determinant (detO = 1).

This form is very useful for generalisations. In a d-dimensional space we rotate a
vector z = (z!,...,29)T with a group element O (d x d matrix). All these elements make
up the group SO(d), while each element is described by the d(d — 1)/2 angles a® = —at®

via

O = exp (%a“bTab> (1.4)
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and the same number of generators of rotation (the Kronecker ¢ is 1 when two indices are
equal and 0 otherwise)

(Tw)*™ = —i (556, — o503, (1.5)

Keep in mind that the indices a and b determine the generator (we could have deter-
mined them differently, for example with a single number from 1 to d(d —1)/2, T1s — T1,
Ti3 — T5, etc.), while the indices k and [ tell us, which element of the matrix we are
talking about.

In the case of SO(2) we have only one element, Tj5, which has been written so far
without any index for simpilicity.

The representation of generators via is only one of the infinite many others.
These can be represented as n X n matrices, the representation is the simplest oneE|
dimensional (d) and are called the fundamental representations of the group SO(d). In
general all SO(d) group generators (in any representation) satisfy the algebra defined by
the commutator

[Tab7 Tcd] =1 (5achd + 5deac - 5bcTad - 6adTbc) (16)

Keeping in mind that T,, = —Tp, and 0., = +0dp,, We can check the consistency of the
above form by change 1) a <> b, 2) ¢ <> d, 3) a <> c and b <> d together. It is not difficult
to check that the fundamental representation (1.5 really satisfy the definition (L.6)).

If we allowed the orthogonal matrices to have the determinant also —1, we would get
the group O(d) instead of SO(d). In three dimensions this means for example that we
have also mirroring on arbitrary plane (z' — —a for a single 7) or inversion (z° — —z°
for all 7).

Let’s go back to the Lorentz transformations. The spacetime is 4-dimensional but of
special type, since time is not space. This can be seen for example in the invariants.
Remember that the length in the four-dimensional flat spacetime is ¢*(At)? — (Az)? —
(Ay)? — (Az)?, and not the sum of squares as in the usual Euclidean space. This means
that we get the product of two vectors in Minkowski space if we insert between them a
matrix - the metric tensor, which takes care of these extra minuses. If we have for example
two vectors a* = (a°,a') and b* = (b°,b), then the product is

a’t’ — a'b' — a®b* — a’b® = a'g,, b (1.7)

where the metric tensor is

10 0 0
0 -1 0 0

=10 0 -1 0 (1.8)
00 0 -1

Zusually also the smallest except for d < 4 for the the spinorial representations, see next section.



We will always stick to the convention that two equal Lorentz indices implicitly mean
summing over them (i.e. without writing explicitly the sum), one of them must be written
up, one down (never both up or both down). For this reason it is useful to lower or raise
the index by the metric tensor. The above equation can thus be written in different
equivalent ways

a" g, b” = a'b, = a,g9"'b, = a,b" (1.9)

where we defined

a, = guwa” = (ag, a1, a2,a3) = (ao, —at, —ad?, —a3) (1.10)

and the inverse of the metric tensor, i.e.

1 0 0 0
0 -1 0 O

pr _

gt = 0 0 -1 0 (1.11)
0O 0 0 -1

which satisfies
(9971), = Guag™ = 8" (1.12)
(g—lg>ﬂu = guagau =", (113)

From here we see that g,” =4,".

The previous definitions for the group SO(d) can be now generalised to SO(dy,d-),
where the metric tensor has in the diagonal d, value plus one and d_ values minus one
(in our case we are interested in SO(1,3)). All the above definitions are still ok, providing
we systematically change all 6 with ¢ and understand all matrix products mediated by g
in between. So the definition of the commutator in the SO(1,3) algebra becomes

[Tas: Tiw) = 1 (ganT v + gpvTop — gpuTov — Jar D) (1.14)

while the definition for the group element (|1.4), which is a matrix in the 4-dimensional
Minkowski space, must be understood in the series expansion

9@161 1 9(1161 9042/32

. . . A
A‘u,/ = (5“,/ + E (ZTal[gl)HV + 55 5 (ZTalgl)u/\(ZTCQﬁz) v + ... (1.15)

Single matrices can be found from the definition ({1.5)

. , A
(iTag)", = (iTup)"" gaw = (8405 — 6205) gav (1.16)
Now it is not difficult to check that ([1.15]) really describe the Lorentz transformations
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't = A Y (1.17)

For example, let’s check that the rotation #°! = a represnets the Lorentz transforma-
tion along direction . In this case

2 H

AI”LV: (5—}-0{(2T019)+%(ZT019)2+ (118)
From (|1.16)) we get
0O 1 0 O 1 0 0 0 0O -1 0 0
) -1 0 0 O 0 -1 0 0 -1 0 00
Toeg=1 9 90 0fllo o =1 0] o 0o 0o (1.19)
0O 0 0 o. 0 0 0 -1 0 0O 00
and
cosha —sinha 0 0
A*, = | —sinha cosha 0 00 0 1 O (1.20)
0 0 0 1

Finally we introduce a new variable, cosha = 1/4/1 — v?, and find exactly the known
Lorentz transformation (v is the velocity).
Similarly an arbitrary tensor transforms under Lorentz as

Treron = N g N g TP (1.21)
It is good to remember that, due to antisymmetry of the generatorsj we get from ([1.15))

o __ —1\7
AT = (A1), (1.22)
and from here the relation
A N =67, (1.23)
Products of two vectors are thus Lorentz scalars:
a’“bzt = A,a"N, b, = a”b, (1.24)

2 More on the Lorentz group (45min)

2.1 Spinors

At first sight it looks like the fundamental representation of the generators (|1.5)) is also
the simplest one, form which we can get the transformations of all higher tensors as in
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(1.21)). It turns out this is not true, since it exists an even simpler represnetation fo the
Lorentz group, from which we can derive even the transformation matrix A*,, which is

needed in ([1.17)) or ((1.21]).

This can be seen from the following derivation (let’s stick to four dimensions): imagine
there exist four 4 x 4 matrices v*, which satisfy the Dirac algebra

{777 =+ =20 (2.1)
Then the matrices

i

P
4

V"] (2.2)

satisfy the commutation relations ((1.14)).
The matrices we need can be written for example as (in the so called chiral represne-
tation) as

i <5Ou 0()“) (2.3)

where o = (1,0%), 6* = (1,—c") and o' are the Pauli matrices. The spinorial represen-
tation W of the Lorentz gruop is thus the one that transforms as

i
\Ij/ = Al/gqj = exXp (504"”2“”) VU (24)
In our case (4d) this is the 4-dimensional Dirac spinor. Since the spacetime dimension
is even, the generators of the Lorentz transformations in the spinorial representations are

block diagonal. Irreducible representations of the Lorents group are thus two-dimensional.
In the basis (2.3)) they are the Weyl spinors ¢, in 9g:

U= (Z;) (2.5)

U — 4w (2.6)

Under parity we have

1.e.

¢L < 'LbR (27)

The Lorentz transformation matrix in the fundamental representation A¥, can be
written, as promised, with the matrix in the spinorial representation A s:

A Aajs = Ay (23)
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For later use we define the 4 x 4 matrix

. 1 0
v’ =iyt = - (2.9)
0 1
and
VAR VIEE (2.10)
which transforms as
U= WA, (2.11)

All 16 possible bilinear combinations of Dirac spinors can be written as

S = Wy (2.12)
P = U’V (2.13)
Ve = Uyt (2.14)
AP = UAry T (2.15)
T = U A (2.16)

The chosen letters (S =scalar, P =pseudoscalar, V' =vector, A =axial vector, T" =tensor)
denote their behaviour under Lorentz transformations

(8", P = (S,P) (2.17)
(Vi A =AM, (V) AY) (2.18)
™ = At N"gT*P (2.19)
and parity
S — +S (2.20)
P —» -P (2.21)
VE o (=1)0met e (2.22)
AP (=1)%0 AR (2.23)
TH s (—1)%wo oo v (2.24)
2.2 All representations of the Lorentz group
Generic SO(1,3) generators can be written as ozna¢imo kot
TOa:Ka ) Tabzﬁabct]c (225>



where the Levi-Civite tensor €. is antisymmetric under the exchange of arbitrary two
indices and €103 = 1. The generators K represent Lorentz boosts, while generators J are
rotations in 3-dimensional space (angular momentum!). The commutation rules
get written as

[Kaa Kb] = _ieachc (226)
[Jo, Kb = ideapck. (2.27)
[Ja, Jb] = iﬁachC (228)

Although this looks less compact as before, it gives some physical insight. The last
equation is nothing else than the commutation relation for the operator of angular mo-
mentum. Defining new linear combinations

1
A, = 3 (Jo +1iK,) (2.29)
1
B, = 3 (Jo — iky) (2.30)
whose commutation relations simplify as
[Am Ab] = ieabcAc (231)
[Aa, By] = 0 (2.32)
[Bav Bb] = ieachc (233)

These are commutation relations for rotations in 2-dimensional complex space (see the
above rules for angular momentum oparators). We can talk about the group SU(2), which
has 3 elements (a generic SU(n), these are rotations - no more orthogonal, but unitary -
in n-dimensional complex space, has n? — 1 generators). A and B are thus generators of
two SU(2).

Generators of the SO(4) group thus get divided into generators of two unrelated rota-
tions, two SU(2) (one with generators A, teh second one with generators B). The group
SO(4) lis locally equivalent to the group SU(2)xSU(2).

Fields describing elementary particles transform as irreducible representations of the
Lorentz group, which can be characterised by two multiples of 1/2; i.e. with one spin
number for each SU(2). In this way the simplest representation is the Lorentz scalar
(0,0). Then we have two types of spinors. we denote the above SU(2) groups with
the index L (left) and R (right), so that we have two types of basic (Weylovih) spinors
g ~ (1/2,0) or g ~ (0,1/2), called the left-handed or right-handed spinor. Each of
them can describe only massless fermions. For massive fermions we need either both of
them (i.e a Dirac spinor) or a combination of the two (i.e. a Majorana spinor). All known
massive fermions (electron, muon, tau, quarks) are Dirac particles, except the neutrino
which may be either Dirac or Majorana.
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The Dirac fermion transforms under Lorentz transformations with Ay /,, see , from
here the sign 1/2, i.e. from spin 1/2 involved. The last representation we will use is for
the vector boson A* ~ (1/2,1/2), which is partly 0 (= 1/2 — 1/2) and partly spin 1
(=1/241/2).

2.3 Exercise 1

e Check that X, = c[y,, 7] satisfy the commutation relations for SO(d,, d_) and
determine c.

Show that X, are block diagonal in the chiral representation of the v matrices.

Prove the equation ([2.§]).

Check equations ([2.26))-(2.28)), i.e. check the proportionality factor in the definition

of the angular momentum operator from 7.

Show that the Dirac equation is Lorentz covariant.

3 Quantm mechanics, equations for different spins
(45min)

3.1 Schrodinger equation
In quantum mechanics one is typically solving the Schrodinger equation of the form
0 1
—U=-——-V;+V |V 3.1

where we sum over all particles £k =1, ..., N, ¥ jis the wavefunction of the system, and V'
the potential. From here it is easy to derive the continuity equation

0 —
—p=-V,.. 1] .2
51" Vi Jk (3.2)

where

p=Vv (3.3)

a positive definite quantity, can be interpreted as the probability density (probability,
that the system is in a given state), while

— 1
= —— (U'V,, U — UV, U* 3.4
J k 2 ( Vi Vi ) ( )

is the probability current of the k-th particle. The equation (3.2)) tells us that probability
is conserved
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3.2 The Klein-Gordon equation

the Schrodinger equation is explicitly non-relativistic. It follows from the non-relativistic
relation for the energy

?2
EFE=—4+V (3.5)

2m
and the exchange of the energy and momentum with the appropriate operators

E — i% . T = =iV (3.6)

The generalisation for the relativistic case seems thus simple: from

E? = %+ m? (3.7)
we get the Klein-Gordon (KG) equation (for a free particle)
(a—z - VQ) d = —m?® (3.8)
ot?
Denoting
d, = % = <%, V> (3.9)

the KG equation can be explicitly written in a relativistic invariant form:

"0, ® = —m*® (3.10)

This equation has two main shortcomings. First, it includes also negative energies
from the square root of the equation ({3.7)

E=+VP2+m? (3.11)

If we included an arbitrary interaction (the above form of the KG equation describes
only kinematics, it is only for free particles), a particle with positive energy could tarns-
form into a similar with negative energy, which obviously does not happen. Second,
similarly as in the case of the Schrodinger equation we could find the relativistic current

o L (D — POMD
J —Qm(CI>8<I> Do) (3.12)
which automatically satisfies teh continuity eqaution due to KG

Ougt = (3.13)
However now

0 0

0 { . »
— =" (ol -0l 14
P=) = om ( at ot ) (3:14)
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is not positive definite anymore and so cannot be interpreted as the probability density.

Said differently, the solution of the KG equation & is not a wavefunction anymore.
We will see that all problems get solved if we interpret the field ® as an operator, which
can change the number of particles.

3.3 The Dirac equation

In the previous section we have not explicitly specified for which particles (of what spin)
the KG equation applies. The answer is simple: since this is just a kinematical constraint,
there is no interaction and it follows just as a relation between energy, momentum and
mass. So it should be valid for every spin. And indeed this is the case, although this
is the whole story only for scalars, i.e. for particles with spin 0, or, said differently, for
the representation (0,0) of the Lorentz group. For particles with different spin we have
additional constraints.
Particles with spin 1/2 satisfy the well known Dirac equation

(id —m) ¥ =0 (3.15)

where we used the known Feynman convention

4 =~"a, (3.16)

The Dirac equation is covariant under Lorentz transformations, for massless particles
is reduced to two independent equations, one for vy, one for ¥p.
The relativistic invariant current

= Uy (3.17)

has a positive definite zero component, which can be thus interpreted as the probability
density, similarly as in the Schrodinger equation.
With the ansatz (px = p,a*)

U =y @e 0 (ali v @etirr) (3.18)

the equation can be solved, with two eigenvalues (o = 1,2) for energy positive (u), and
two negative (v). But since The Dirac equation describes partilces with spin 1/2; these
negative energies are innocuous. Not only, due to these negative energy solutions, Dirac
predicted the existence of antiparticles, i.e. particles with all charges opposite to the usual
particles. To forbid transitions of states with positive energy to those with negative energy,
Dirac postulated that all states with negative energy are filled. The vacuum (the ground
state of the system) has all negative energy states filled. The state of a positive energy
particle is thus stable, since due to the Pauli exclusion principle, it cannot transform into
a negative energy state, since all of them are already populated. On the other side, such
a vacuum allows, by addition of energy, a particle with negative energy to get excited to
a state with positive energy, leaving the previous negative energy state empty. The hole
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in the negative energy states means antiparticle, so such a process is nothing than the
generation of a particle-antiparticle pair.

The Dirac equation behaves much better than the the KG or Schrodinger euqtaions,
since it avoids the previously mentioned problems and it is relativistic. However, although
it describes a fermion at low energy , it fails at higher energies. The reason is that it fails
to describe processes which change the number of particles. Such processes are however
possible, as we have seen in the example of creation of a pair of particle-antiparticle. This
problem will be definitely solved only with a consistent quantum field theory description.

3.4 Maxwell’s equations

Let’s mention only briefly the Maxwell’s equations. These can be written in an explicit
relativistic covariant form as

F. = 0,A,—0,A, (3.19)
O"F, = j, (3.20)

where A, is the electromagnetic potential. F), transforms under the Lorentz transfor-
mations as a tensor with two indices, A, and j, as vectors. The quantity j, is the souce
(current) of the electromagnetic field and it is conserved (0*j, = 0). The equation (3.20))
has too much freedom. In fact, if A,(z) is the solution, so is also A, (z) + d,a(x), where
a(x) is an arbitrary function of coordinates and time. This can be cleverly used to sim-
plify the above equations. The physical quantities - then electric field E and the magnetic
field B - doe not depend on the choice of the parameter «, since
1

As an example of simplifying the equations (3.20) take such a a(x), for which O*A, =
0. This can always be done. Suppose that flu does not satisfy it. Then we can redefine
A, = flu + 0, and choose « to satisfy the equation 6%a = —d.A. We say that we choose
a gauge.

In such a (Lorentz) gauge it is enaugh to solve, instead of , only the simplified
equation

0*A, =7, (3.22)

with an extra constraint

0.A=0 (3.23)

3.5 Exercise 2
e Solve the Dirac equation for a free field, write explicitly u(®(p), v (p).
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e Normalising

@ (pyu'(p) = 2ms (3.24)
7@ (P @) (p) = —2m s (3.25)

compute the quantities

Po= ) W (p)a(p) (3.26)

Poo= = oW (p)p(p) (3.27)
a=1
e Assuming that
() (a) _ L 5 gi(a)
u u :§(1+7$ )P+ (328)

compute explicitly the polarisation vector S,Sa) (spin) and check that p*S, = 0.
Repeat the exercise also for v(®.

e (Calculate for n =0,...,4

Tr (Vs V) (3.29)
Tr (V5Ypr - Voan) (3.30)

4 Equations of motion, internal symmetries (1h30min)

4.1 The action

All the above equations of motion can be derived from the known principle of extreme
action, which we know already from classical mechanics. Here we generalise it for the
case of fields in 4-dimensional spacetime. Imagine that we have a Lagrangian density
(from here T will usually call it simply Lagrangian), which is a scalar under Lorentz (and
other, see later) transformations. This Lagrangian is a function of the field ¢ and its first
derivative 0,¢, so L(¢, 0,9).

The action is defined as the space and time integral of the Lagrangian

Stol = [ d'ec(6,9,0) (4.1)
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According to the principle of extreme action the equations of motion are obtained by
requiring that the action does not change for small changes of the field ¢ — ¢' = ¢ + d¢

SI#) — S¢] = / 32 [L(8,0,8') — L(6,0,0)

_ / d's [%w " %ﬁw(s@@} (4.2)

foe o Gaaa) + (5 2 (ataim ) ) o) =

In going to the last line we took into account that the difference of derivatives os equal
to the derivative of the difference 6(9,¢) = 0,0¢ and we integrated by parts.

The first term is a total derivative. Its integral depends thus only on the values of the
fields at the boundary (at infinity). If we limit ourselves to small enough fields and/or
difference of fields ¢, then this term does not contribute. The action is then extremal
for fields that satisfy the Euler-Lagrange equations

What type of Lagrangians will we use? As we already said, let the Lagrangian be
a Lorentz scalar. In the case of free fields we would also like to correctly reproduce
the equations for different spins derived in the previous section, i.e. the Klein-Gordon
equation (spin 0), the Diracovo equation (spin 1/2) and the Maxwell equation (spin 1).
It is not difficult to check that the Lagrangian for a free scalar field is

1 1
L= 50,606 — Sn6? (4.4)

where the normalisation to 1/2 of the first term (with derivatives) is similar to the defintion
in quantum mechanics:

1 (dZ\?
L=-m|— 4.
2" ( dt > (4:5)
Time t and the particle coordinate 7(2&) in classical mechanics corresponds now in
quantum field theory the four-vector 2% = (¢, 7’) and the field ¢;(z*) .
For a free complex field we write
L= 0,0'0"6 —m?¢" (4.6)

The normalisation is chosen here so that the complex field can be expressed with two

real fields as ¢ = (¢; + i) /V/2.

Similarly for fermions

£ =6 (iy"9, —m) ¥ (4.7)
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where we must consider the fields ¢» and v in the derivation of the Euler-Lagrange equa-
tions as independent fields (similarly as ¢ and ¢* in (4.6)).
Finally we get the Maxwell equations from

1
L= =2 FuF"™ + Ly (4.8)

where the last term depends on the choice of gauge (gf=gauge fixing). If the Lorentz
gauge is chosen

1

£9f: 25'

(8, A")" (4.9)
with ¢ a Lagrange multiplicator.

The factor —1/4 in is determined by the requirement that the product of time
derivatives of the spatial components A’ satisfy the same normalisation as in (4.4]). The
time components A° on the other side do not have this kinetic term, which indicates that
not all four components of A* are physical, which further motivates the gauge fixing term

(for example (4.9))).

4.2 The Noether theorem

Let us go back to the equation . Let’s assume that the field ¢ satisfies the equation of
motion. We are interested now in the internal symmetries of the Lagrangian, i.e. on such
0¢, for which the Lagrangian is invariant. In this case the first term under the integral is
zero in the whole spacetime (and not only after the integration, or stated differently, at
infinity, as for arbitrary d¢)

8, (%ﬁw(w) =0 (4.10)

If there are more fields, we need to add the single contributions. We will be inter-

ested here in continuous transformations, which are described by a Lie group (7, are the
generators)

¢ = e g (4.11)
Then 6¢ = ia®T,¢. All together we get as many conserved currents as the number of

the generators of transformations we have:

oL
Bl =0, jt=—"" 4T, 4.12

These relations are exact only after using the equations of motion.

Let’s see the known example of a Lagrangian for a free complex scalar field (4.6)). The
simmetry here is the U(1) phase:

¢I —_ eia¢ ’ ¢*/ — efia(zﬁ* (413)
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under which the Lagrangian (4.6) is invariant. Then the current is

j* =i(¢0"¢" — ¢"0"9) (4.14)
If we differentiate
it = i (60%0" — 6°0%) = i (—em?¢" + 6'm?) =0 (4.15)
where we took into account the equation of motion
(*+m*) ¢ =0 (4.16)

We encountered this current (4.14)) already in the previous section, where it came
from the Klein-Gordon equation, while here it comes directly from the symmetry of the
Lagrangian. We say that the current is conserved, since the quantity

Qu = /dsxjg (4.17)
which is called the charge, is time independent:
dQq
C?t = / d*x0p7) = / d*xd, gt =0 (4.18)

As usual we took into account that the fields decrease fast enough towards infinity,
and use the Gauss law (the space integral of a total derivative is equal to the integrand
at the boundary). We call the current and the charge the Noether current
and the Noether charge. The Noether theorem states that these charges are conserved.

4.3 Gauge invariance

So far we took transformations with constant parameters. In this section we will
consider the very important case, when these parameters are functions of coordinates,
o = (). These are the gauge transformations.

The motivation for them comes from the gauge invariance of the Maxwell equations.
We can couple a fermion

L = piy"d, (4.19)

with the EM field with the known quantum mechanical receipe

10, — py — pp +eA, =10, +eA, = 1D, (4.20)

We defined the covariant derivative

D,y = (0, —ieA,) Y (4.21)
The Lagrangian
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Ly =iy Db (4.22)
is invariant under gauge transformations
ia(x) 1
Y=Y A, = A+ -0, (4.23)
e

since the definition of the covariant derivative on a field is to transform exactly as the
field itself.

(D) = €Dy (4.24)
Similarly the kinetic term for the EM field
1 »
Lo = _ZFMVF (4.25)

is invariant under gauge transformations, since it is invariant already the field strength
itself.

F. = 0,A,—09,A, (4.26)
Fl, = Fu (4.27)

The sum and is the Lagrangian for a fermion and the EM field.

Transformations form, as we know, the group U(1), i,e. the change of the
fermion phase. This can be generalised to other groups, which has been first done by
Yang and Mills in the fifties, who first wrote down the Lagrangian invariant under the
transformation group SU(2).

More genrally, we would like to understand how to write Lagrangians invariant under

W =U¢ , U=Ula(z)) , U =U" (4.28)

where U are unitary matrices, elements of the SU(N) group. Terms of the formn) are
invariant since U is unitary, UTU = 1. Problems appear though when we have to do with
derivatives:

O/ = U + (0,U) v (4.29)

so that the Lagrangian is not invariant due to the second term
VN O # iy O (4.30)
Similarly as before with the photon field A, we would like to transform also here the
usual derivative intro a covariant one. Now we have the group SU(N), and so N? — 1

gauge bosons, the same number as the number of generators of transformations. We first
define the matrix
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A, = AT (4.31)

where the generators T are in the same representation as . If for example ¢ is in
the fundamental representation, for the case of SU(2) the generators T are the properly
normalised Pauli matrices 0%/2, while in the case of SU(3) the Gell-Mann matrices. In
any case we stick to the normalisation convention for the genrators in the fundamental
representation

Tr (T°T") = %5‘”’ (4.32)

(a different choice would just redefine the coupling constant g). Let us now use a similar
trick as before. We introduce the covariant derivative

D, = (0, — igA,) ¢ (4.33)

which under gauge transformations
¢/ — eiaa(m)Taz/) ’ A;L — UAMUT _|_ gaﬂ (U) UT (434)

behaves as . We guessed this change of the vector field (of the matrix (4.31))), and

the constant c is determined from the condition for a(z) = a,(x)T* finding ¢ = —i.
Ho do we get the invariant for the kinetic terms of the gauge boson A,? It makes sense

to have a similar form as before, but taking a trace since we have to do with matrices:

1
L=——Tr(F,F") (4.35)
462

which does not tell us much, since we have not defined F),, for a general SU(N) group. The
simplest ansatz (4.26]) turns out wrong, so we try another guess (we demand antisymmetry
under exchange of indices)
F.=0,A, —0,A,+cglA, A (4.36)
To have an invariant trace (4.35]), we need

F,=UF,U (4.37)

which determines ¢; = —i. The last constant ¢, is fixed by normalisation. Fo every gauge
field A}, we want to have the same normalisation of its kinetic term as for the case of
electromagnetism. This shows that ¢y is just the normalisation factor for the generators
(in a given representation)

Tr (T*T") = 26 (4.38)

and so equal to 1/2 in the case of fundamental representation.
Two more comments.
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First, we can use the same general formula for SU(N) also for the case of electro-
magnetism, where the only generator T® = ¢ is now a constant, which is not necessarily
normalised the same way for different fields. This means that each field 1, can have its
own ¢. In this way we can for example interpret e as the electron charge (it has ¢ = 1),
so that the up quark has ¢ = 2/3, down quark ¢ = —1/3, etc. The product ge is the
U(1) charge of the field v),. Here there is a difference between the abelian U(1) in the
nonabelian SU(N) groups. While in the abelian case each field can have its own charge,
in the nonabelian case the charge depends uniquely on the group representation.

Second, in the same way as we defined the covariant derivative for fermions, we could
have done it for bosons.

Dy = (9 —igAy) & (4.39)

while the invariant kinetic term is

L= (D,)" D ¢ (4.40)

4.4 Exercise 3

e Show that the Noether theorem for translations and rotations mean conservation of
energy, momentum and angular momentum.

e Compute ¢; from equation (4.36]), by checking that the electromagnetic field strength
transforms correctly as F), = UF,,U . Check also if the same tensor can be writtena
as D,A, — D,A, or [D,,D,].

5 Perturbation (3h)

5.1 * Quantum mechanics

The Schrédinger equation keeps the number of particles constant, its solution (the wave-
function) tells us how the initial ¢(z,,t,) (z, are the coordinates of all partilces in the
initial moment ¢,) changes into ¢(xy, ;) (x, are the coordinates of all partilces in the final
moment t). This can be written via the function G(xy, ty; x4, t,):

U(xy, ty) = /G(:vb,tb;xa,ta)w(xa,ta)da:a (5.1)

If we know the function GG, then we know the system completely. Something similar
will be true also later on in field theory, when the number of particles can change, while
the interpretation clearly will not be correct.

The equation we try to solve is in general of the form

Oy, (T, 1) =0 (5.2)
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This can for example be

1 0
——V2 - V(xy, ty) — i
2mb o ( b b) (9151,
If we knew how to solve such equation exactly,this section would finish here. But since

we do not know exact solutions almost never, we must make use of approximations. The
most common one is a systematic perturbation expansion. We split he operator O into
a piece which can be solved exactly (this piece is typicall without interactions) and the

rest:

Ozb,tb - (53)

0=0"+0! (5.4)

We choose the operator O so that we are able to solve the homogeneous equation

Og,t¢0($at) =0

O Go(mg,tg;xl,tl) = —25(x2—x1)5(t2—t1)

x9,to
In the case (|b.3]) we choose for a particle in D spatial dimensions for example (the Heaviside
function 0(¢t) = 1 for ¢t > 0 and 0 otherwise)

1 0
0 f— —_— 2 —_— ._
O = 5 V*—1i : (5.7)

o' =V (5.8)

[\
=
SH
R
°

dolw,t) o e EFE) g

D /2
exp

Go(xa, ta;21,t1) = 0(t) (5.10)

<27th

%L

where 7 = ?2 - 71 and t =ty — 3.

Let derive the result (5.10) from (5.6) for D = 1. AS usual, the invariance under
translations tells us that the Green function GGo depends only on differences z, = 9 — 1
and x; = t9 — t1:

Go(za,ta; 21,t1) = Go(x) (5.11)

We guess the solution (5.6 through the integral

k- ,
Go(z) = [ ——5Go(k)e " 5.12
(@) = [ GaColbe (5.12)
We get

(5.13)
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This has been a formal calculation, for the integration under we need also a prescription
how to avoid the pole on the real axis. k; = k?/2m. This can be done by adding in the
denominator a term +ie, where € > 0 is infinitesimally small and will be made vanish at
the end of the calculation. Then the new pole is

]{2

i.e. in the fourth quadrant of the complex plane (Re(k:), Im(k;)). The integration under
(real) k; from —o0 to 400 can be transformed into a closed integral around the upper half-
plane if ¢ < 0 or into a closed integral around the lower half-plane if ¢ > 0 (the integral on
the half-circle at infinity is zero if Re(—ikit) = Im(k;)t < 0). The only pole in the whole
k; plane is, as we said, in the fourth quadrant, so the integral vanishes automatically for
t < 0. In the opposite (f > 0) case w eget

Gol) = 0(¢) /_ m % exp [—@' <2(mk—j_l€)t - m)} (5.15)

o0

(that the new e is not completely the same as the previous one is not really important,
what is important is only that they both have the same sign). The Heaviside takes care
of the vanishing of the integral for ¢ < 0.

The last integral can be evaluated with the help of

+oo
/ dze ™ = ; (5.16)

which is true providing Re(A) > 0, which is true in the above example thanks to the
positivee. With all this we arrive at , which is what we wanted to show.

A typical process we will study will be scattering when particles come from very far.
At that time (f, — —o0) these particles are essentially free and so solve homogeneous
equation . Of course this cannot be completely true since the plane wave is present in
the whole of space, so also close to the interaction. In reality te particles are wave-packets
and at infinity they do not feel the interaction. The approximation that at infinity the
wavefunction is for free fields must thus be valid:

—00

ZU(%, ta) - 77D0(:L'aa ta) (517)
The solution ([5.2)) satisfies the integral equation

w(l'b,tb) = wo(iﬂb,tb) - i/Go(l‘b,tb; x,t)O;tw(:c,t)dxdt (518)

0
ZThotp*

which we check by acting on it with the operator O

And here we go: we expand v on the right-hand-side according to the equation itself
and find the perturbative expansion (for O' = V)
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W(xp, ty) = o(xp, ty) + /Go(xb,tb;x,t)(—i)V(:z:,t)z/Jo(x,t)dacdt (5.19)
+ /Go(xb,tb;x,t)(—i)V(a:,t)Go(:p,t;x’,t’)(—i)V(z',t’)wo(x',t')dmdtdm'dt' + ...

Yo(z,t) is the same function of space and time we had at the beginning (same mo-
mentum), i.e.

oz, t) = /Go(x,t;xa,ta)¢0(xa,ta)dxa (5.20)

which applies for ¢ > t,, so that (5.5]) is satisfied.
A similar expansion can be repeated for

G('Tb7tb;xa7ta) == GO(I’b,tb;l’a,ta) (521>
+ /Go(xb,tb;x,t)(—i)V(:I;,t)Go(x,t;xa,ta)dxdt+...

5.2 Classical field theory, Feynman rules and diagrams

The above derivation of the solution to the Schrodinger equation is pictorially clear, since
we can follow the change of the propagator in the interacting theory G: this is made of
the free propagator Gy, two free propagators Gy connected with one interacting vertex V,
three free propagators connected with two interacting vertices, etc. For small interaction
term V' we hope this expansion will converge.

There are two shortcomings of this approach: 1) everything is nonrelativistic; 2) the
interaction is external, i.e. the number of particles does not change. Point 1 will be
solved by considering the Klein-Gordon equation instead of the Schrodinger equation,
while point 2 will be taken care of by generalising the linear equation in the wavefunction
1 by adding nonlinear terms. Let’s see this in more detail.

We will consider the Lagrangian

1
L= (00 -V(®) (5.22)
The equation of motion is
ov
2 —_—
0 ¢ = a¢+J (5.23)

where we added on the right-handside the source of particles J. Similarly as in the
previous case we are unable to solve in full generality, so will will do ti perturbatively. To
dom that we will make an expansion in powers of a fictitious parameter A\. At the end of
the calculation we will put it to one, A — 1.
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¢—>i>\"¢n . J = A

n=0

The equation of motion ({5.23) becomes an infinite system of equations:

Pdo+V'(do) = 0
(O + V(o)) 1 = J

o)) ¢
@+ V") 6 = —5V" ()6}
)925

(32 4 V// 5 = —V”/<(b0)¢1¢2 . %V////<¢O)¢Zli

(5.24)

The first equation determines the background around which we expand our solution.
Usually this background solves the equation with a constant ¢, which we call the vacuum
expectation value of the field ¢. Sometimes the solution is non-trivial, time and/or space
dependent. In this case we talk about solitonic solutions in Minkowski spacetime, and
vacuum transitions or instantons if the spacetime is Euclidean. The solution ¢q represents
the vacuum of the system, and we need to check that this extremum is a minimum and
not a maximum of the action. This requirement is satisfied if the operator 92 + V" (¢y)

has only nonnegative eigenvalues. We assume here that this is true.
The next equation ([5.26)) is solved with the ansatz

¢1(x) = /dyiA(ra y)id(y)

where the propagator A(z,y) is the Green function of the equation

(07 +V"(do(2))) iA(z,y) = —id*(z — y)
satisfying

A(z,y) = Ay, =)

All these i-factors are here for historic reasons.
The next equation is (5.27)), with the solution

oa(e) = 5 [ A ideu) (V" ()
X /dyziA(yl,yz)iJ(yQ)/dysiA(yl,yg)iJ(yg)

where we used the notation
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9"V (¢)

Vi (z) = 05 | (5.33)
We continue the iteration
p3(r) = /dyl iA(l‘ayl)(—iVm(yl))/dyz iA(y1, y2)id (y2)
<5 [ dmis )iV ) [ dnidn i)
X /dy5iA(y3,y5)iJ(y5)
g [dmine - w) [ duidwile)
<[ i () [ dniBn50 () (5.34)

All this can be put in a more symmetric and useful form if we introduce the generator
of connected diagrams W[J], which is a functional of the source J via

SWII] _
A (5.35)

where the functional derivative is generically defined as
SFIF(®) _ . FII(®) +ed(t = )] = FI/(0)
5i(r) e ‘

If we now integrate and expand the solution as powers of sources, we get (we can
always choose W[0] = 0)

(5.36)

Ry |
WJ| = z nEZI ] /d:pl . /daznG(xl, oo xp)id (x) i (xy) (5.37)
where we defined with

MW [ J]
81 (1) ... 09 (x,) | 5,

the n-point connected Green function. Let’s write down few lower ones:

G(z1,...,x,) =

(5.38)
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Figure 1: The Feynman rule for the 2-point Green function (propagator) in x-space.

I T

Figure 2: The Feynman rule for the n-point Green function in x-space.

G(z1) = ¢o(z1) (5.39)
G(x1,22) = iA(xq,x2) (5.40)
G(x1, 9, 3) = /dy iA(x1, y)iA (2, y)iA(xs, y)(—iV" (y)) (5.41)

G($1,I27I3,$4) = /dyiA(xl,y)iA(xQ,y)iA(xg,y)iA(m,y)(—iV"”(y))

+/%/%FW%MMmMHWMD

X (1A (@1, 11)iA (22, Y1) iA (23, Y2 )i (24, Y2)
+iA(z1, y1)iA (23, y1)iA (22, Y2 )i A (24, y2)
+iA(zq, Y1 )iA (2, y1)IA (T2, y2)iA(x3,Y2)) (5.42)

The result becomes more and more complicated, but there is a natural pictorial in-
terpretation of the solution through diagrams. The propagator iA(z,y) is denoted by a
line between  and y, the nteraction (—iV (™ (z)) is a n-point vertex (with n legs). This
correspondence is called the Feynman rules. The diagrams drawn in this way are the
Feynman diagrams.
The n-point classical Green function can be got through these diagrams . We first
draw all possible tree (with this we mean all diagrams which do not enclose any point
in the figure) diagrams with n external legs, and then using the Feynman rules we write
down the corresponding function. In doing that we should not forget the integration over

all internal points (y; in equations (5.41))-(5.42))), which is implicit in the diagram.
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Figure 3: 3 and 4-point Green functions.
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5.3 Backgrounds with Lorentz simmetry, Feynman rules and
diagrams in p-space

Although everything is written very compactly, it is very difficult if not impossible to
compute the Green’s functions analytically for a generic background ¢g(z). Everything
simplifies drastically for backgrounds which maintain the Lorentz symmetry, i.e. with a
constant ¢g. In the following we will consider such backgrounds.

In such a case the constraint for nonnegative eigenvalues of the Klein-Gordon operator
0? + V" (o) becomes a constraint on the positive mass square of the excitation

m? = V"(¢g) >0 (5.43)

If we did not take care of this constarint, the next equation (5.26) would give an
exponentially increasing solution, signalling an instability (at the maximum of the action
the system is unstable).

We can take advantage of the Lorentz symmetry by transforming all quantities through
a Fourier transformation into p space.
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Figure 4: Feynman rules in p-space

d4p1 d4p1 ip1T1 DT
G(zy,...,x,) = /(27?)4”'(277)4610 ..e?

x  (27)** (pr+ ...+ p)G(P1s ..., D) (5.44)

where the d-function in the integrand follows from translation invariance

Glr1+y,...,on+y) =G(xy,...,1,) (5.45)
It is now easy to derive (for the propagator we prefer to use G(p) instead of G(p, —p))

G(p) = pg_;'w (5.46)
G(ps)(—iV") (5.47)
b

G(p1,p2,p3) = G(p1)G(p2)
G(p1,p2,p3,p1) = G(p1)G(p2)G(p3)G(pa) [(—iV") (5.48)

+ (=iV")(G(pr +p2) + G(p1 +p3) + G(m +P4))]

Remember that V(™ = 9"V (¢q) /042

We got the result in p-space, which has no addditional integration. The solution of
classical equations of motion can be thus written in momentum p-space as the sum of
all Feynman diagrams, where to each line corresponds a propagator and to each
n-point vertex a constant term (—iV/ (™).

As we will see the Green function G(p,...,p,) is directly connected to a physical
quantity. More precisely, it is proportional to the classical amplitude for a physical process,
where there are n number of (in this case same) external particles. All we have to do is to
skip in the expression for the Green function the contributions of the external propagators,
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and put all external propagators on-shell (this means they need to satisfy the relations
p? =m?). If we multiply all this with 7 we get

A(p17p27p3) = VW
A(pr,pa2,p3,ps) = V" — i(V/,/>2 (G(p1 +p2) + G(pr +p3) + G(p1 +p4))

6 To quantum field theory (1h30min)

So far we derived a way how to get the solution of the equation of motion assuming rela-
tivistic invariance, allowing through interaction that the number fo particles get changed.
We already mentioned that this corresponds to the classical level. This follows somehow
from the definition: the solution of the equation of motion is a classical solution. For
example the solution to Maxwell equation is valid in classical electrodynamics. In this
section we will generalise the calculation of the Greens’ functions for quantum-mechanical
systems. We will first put the Schrodinger equation into such a special form, which will
be easily generalised in field theory. Then we will show that such a generalised definition
of the generator of connected diagrams behaves as we expect in the classical limit. Finally
we will define the canonical quantisation and compare it with the path integral method.

6.1 Path integral

The idea of the path integral, which has been first introduced by Feynman in the forties
of the last century, comes form a simple argument: the interference in the two slot ex-
periment, which is valid in classical optics for light, is valid in quantum mechanics also
for particles. This essentially means that the particle moves through all possible paths.
Imagine that at time ¢, the particle wavefunction is v (z,,%,). We want to compute the
wavefunction at final time ¢(xp,t,). What we need is the propagator G(xy, ty; T4, t,). All
possible paths must be taken, which from the initial position z, at time ¢, go to an arbi-
trary final position x;, at time ¢,. For a given x(t) with correct initial and final constraint
x(tap) = Tap We get a change of phase

b ty ty
Aj— / (pda — Edt) = / dt (pii — H(z,p)) = / dtL(z, ) (6.1)
a ta tq
where as usual p = 0L(x,¢)/0%. If only one path z;(t) is possible

G(p, ty; Ta, tg) X A (6.2)

if two are possible, z1(t) and xo(t), we have

G (b, ty; Ta, ta) X €501 4 1092 (6.3)
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while in general we can have an arbitrary path, which means that we have to integrate
x(t;) for every t; € [t,,tp] from —oo to +00. Of course there is an infinite number of such
t;, i.e. there is an infinite number of integrations over x(¢;), so we could define such an
operation as the limit

+oo +00
G(zp, ty; o, ty) = lim C’n/ dxl.../ dx, (6.4)
n—oo —00 — 0
% ex izn:At I Tit1 +Ti Tip1 — Ty
P& 2 AL

where we divided the whole interval in equal parts At = (¢, —t,)/n, and took into account
the constraints xg = x, and x,,1 = x,. The constanto C), will be determined soon.
This definition can be written as

Gy, th; T, ta / Da(t exp[ / dtL(x,:b)} (6.5)

although we always have in mind .

Let’s now convince ourselves that the above is correct and calculate the unknown
constant. To this end we check that the Green function satisfies the Schrodinger
equation, as we expect from (5.1)):

n+1

Cn = (27:?&) N (6:6)

6.2 Quantum field theory, finally

Similarly as for the solution of the Schrodinger equation, we can define via the path
integral also the generator of the connected Greens functions W[.J], which we call the
generating functional. The following correspondence between quantum mechanics and
field theory can be used:

t — o= (2" (6.7)

z(t) — ¢(") = ¢(z)

The generating functional is

[Do(z)exp [i [ diz (L(p,0¢) + Jo)]
[ Do(x)exp [i fd4:c£ $,09)]
Let’s check if we get at first order the already known relations. At the same time we

will show that corrections to them are quantum. For this purpose we will reintroduce

the Planck constant hA. The Lagrangeva density has the same mass dimension as the
Hamiltonian density, i.e. mass per volume:

exp (iW[J]) = (6.9)
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L] = [H] =ML (6.10)

Since

[h] = ML (6.11)
the definition gets correctly written

‘ D L da (L(p,0 J
o (Law1) = L2 e [L] e (£6.00) 1 70) 612
h J Do) exp [} ] doL(9,09)]
Instead of the full case let’s have a look to the analogous simplified case
+oo ; .
i ffoo drexp | (s(x) + jx)
exp <ﬁwb]> == b i | (6.13)
f_oo dx exp [ﬁ (s(x))}
We expand the function s(x) in the numerator around z.;, which satisfies
Sl(fﬁcl) +35=0 (6.14)
and around z% in the denominator
s'(z%) =0 (6.15)

We introduce a new variable © = x4 + Z in the numerator and a similar one in the
denominator, getting

o (Goll) = o [ (000 + 520 = 163
s [1 T, e

X E
Foo - oo SO -
ffoo dz exp [ﬁ Yo — e an

(6.16)

We redefine & — h'/2%, assume that s (z) has a small positive imaginary component
(in field theory this is the prescription m?* — m? — i¢) and finally obtain

exp (%w[j]) = exp [% (s(za) + jra — s(zy))

(2) —1/2
X [S (%’)} (1+ O(h'/?)) (6.17)
The first approximation (classical) is
wlj] = s(za) + jra — s(zy) + O(h) (6.18)
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The third term on the right-handside, —s(z?), has no special meaning, it just enforces
w[0] = 0.

Let’s now repeat the same for the case of field theory . It is not difficult to guess
that the analogue of is

W(J] = S[éu] + / d'zJdq + O() (6.19)
If we take a functional derivative over J(z) we get ¢ as the solution of
5S[¢0l]
+J(z) =0 6.20
5¢cl($) ( ) ( )

Since the action is

ol = [ e eo.00) = [ (5007 - V(o)) (6.21)
we can change (6.20) using (5.36]) and integration by parts into

— 82¢cl(x) — VI(chl(x)) + J(l’) =0 (622)

Of course this is nothing else than our old friend, the equation (}5.23]).

We thus have the definition for the generating functional W[J], which is valid
quantum mechanically. At first order gives the already known solution to the
classical equation of motion (6.22]).

we obtain the n-point connected Green function in general as

_ MW J]
i ()00 () | 5

Let’s stress some points on the above equations.

G(zq,...,Tp) (6.23)

e In field theory to each type of particle there corresponds a field. So for example a
field is for the electron, one for the up quark, etc. The above definition we used
is for a generic field ¢. If we have many different fields, then we have to integrate
over all of them. For example if we study the a system with particle ¢ (whatever
this may be) and the photon A,,, then we have to integrate over D¢ and over DA,,.
Strictly speaking, the above definition can be used only for particles with spin zero.
For fermions and gauge bosons we will need some more explanations.

e A system with many particles of the same type (for example 3 electrons) does not
introduce any new integration, just more derivatives. So for example is related
to the probability (this is not the S-matrix yet) for a transition from n; ¢-particles
into ny ¢-particles, where ny +ny = n. The n functional derivatives of generating
functional mean this the total number of initial and final particles in the process.
Each particle has appeared or disappeared at its own time ¢; at position .

33



e Now we can see the meaning of teh denominator : the transition from vacuum
to vacuum without intermediate sources is normalised to 1, i.e. nothing happens.

e The formulation via the path integral is explicitly relativistic invariant (providing
of course the Lagrangian is a Lorentz scalar).

The method of path integral via direct integration as we have shown in the previous
section is very useful in the computation of various quantities, as for example the quantum-
mechanical corrections to the equations of motion )the so-called Coleman-Weinberg po-
tential). For the amplitude we will however use another method. This will be done in the
next section.

7 Canonical quantisation

In previous sections we introduced everything we need to calculate the physical quantities
in a quantum field theory. We quantised the classical fields via the path integral without
even noticing it. Historically another method is more known, the canonical quantisation.
Since some interesting details and computational bonuses are connected with it, we will
spend this section to get an idea of this method. At the same time we will come back to
our old problems: the existence of solutions with negative energy and the interpretation
of the zeroth component of the conserved current. In spite of having already constructed
the rules of a quantum field theory, solutions to these issues are not seen clearly yet.

7.1 The Hamiltonian

Let’s first define the Hamiltonian density (or shortly the Hamiltonian) via the known
method. We have a Lagrangian as a function of fields and its first derivatives:

L= L(¢(x), 0u0(x)) (7.1)
The field momentum is (analogouly as the coordinate momentum in quantum mechan-
ics)
OL(d(x), uo(x))

m(x) = Do (0) (7.2)

The Hamiltonian is then

H(o(x), m(x)) = m(x)op(x) — L(¢(2), 0up(x)) (7.3)

where Jy¢(z) on the right-handside has to be replaced by ¢(z) and 7(z). Let’s see some
typical examples.
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7.1.1 The free real scalar field

We know already its Lagrangian:

1 m?
L= 5002 - -5 (7.4)
By using the above rules we get
and then
1,1 o M,
H= 5Tt 2(ng) + 35 o (7.6)

The energy (the Hamiltonian) i explicitly positive definite, so there is no danger for
states with negative energy. The problem has been thu solved by replacing a particle with
its (classical) field.

7.1.2 Free complex scalar field

From the Lagrangiana

L =0¢*0p —m?¢p* ¢ (7.7)
we get, similarly as as before,

T

9(9h9)

and again the Hamiltonian is positive definite

B L
CICYD)

= B (7.8)

H =7 + [V +m?|gf (7.9)

so again no problems with negative energy states.

7.1.3 Free Dirac field

From the Lagrangian

L= (i —m) v (7.10)
we first get the field canonical momentum
oL -
1= = 1hiy° 7.11
5000 piy (7.11)
and then the Hamiltonian
H =10y — L = 0 (7.12)
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where in the last line we used the Dirac equation. The result is not surprising (in quantum
mechanics the time derivative corresponds to the Hamiltonian), but, differently form the
previous cases, the operator is not explicitly positive definite. To solve this problem we
have to change the classical fields with operators - we have to quantise. To tell this
operation from the quantisation of coordinate and momenta in quantum mechanics (first
quantisation) we call this new quantisation of fields the second quantisation.

7.2 Quantisation of fields

We now very briefly repeat the case of the harmonic oscillator with the Hamiltonian

1 w?
H= 5p2 + 7# (7.13)

We quantise the coordinate i.e. the momentum via the commutation relation (as usual

[A,B] = AB — BA)

[z,p] =1 (7.14)

Let’s define the creation (a') and annihilation (a) operator via

1
r = (a+a") , p= —i\/g(a —a') , [a,a]=1 (7.15)
(7.13) turns into

g

H= g (ala + aal) (7.16)
The vacuum |0) is defined as the state, annihilated by the annihilation operator:
al0) =0 (7.17)
The n-particle state is defined via the creation operator

) = = (@)"10) (718)

We will now try to repeat the procedure for the case of a field theory.

7.2.1 The real scalar field

Similarly as we quantised the coordinate and momentum in quantum mechanics via the
commutation relation (|7.14]), we quantise in the case of field theory the field and the field
momentum

[6(t,2), 7 (t, )] = i0°(F — ¥) (7.19)
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We had to generalise the quantum mechanical commutation relation, since we have
now one operator for each point in space. The relation is valid for fields defined at the
same time t. For different times the commutator vanishes.

(7.14) becomes

o) = / @g)—gzw(ake—ikuage““) (7.20)
t(x) = / (2:;—3’;%(—1'%) (ake—m—aze“ﬂ) (7.21)
[ak,a,z,} = Ptk —K) , |apaw] = [a;,a;,] —0 (7.22)
where
k= (wy, k) (7.23)

and the energy of the single particle state is (we will se this later)

wip = \/ k2 + m? (7.24)

The Hamiltonian, i.e. the volume integral of the Hamiltonian density (7.6)) is now

H = /d?’x’H
/ 3 1/ d3k / d3K'
d’x—
2 ) 2m)32w; J (27)3 2wy
[(—iwk)(—iwk/) (ake ikx alék:z:) <ak/€_ik/$ . a;fg/eik/x>
+(ik) (ik") (ake the > az,eik/z>
+m (CL e zkx_'_ak zkm) <ak’ zkx+ak/ezka:>]
S -
2/ (27)22wy, 2wy

2 —2wpt T T Tt 2wt
[—wk <aka_ke Mo—agay, — agap +agal e "

—k? (—aka,ke_%’“t — aka;i — azak — aLaT_keZQ‘”’“t>

+m? (aka,ke*%kt + aga) + alay + ala ,ﬁeﬂ“”“tﬂ

d3k Wi + i
= —_ 7.25
/(2#)32wk 2 (akak +akak) (7.25)
where we used essentially ((7.24])) and

37



/d?’xei(';_k?)f = (2m)*0*(k — k) (7.26)

The vacuum state |0) is defined as that one, which gets annihilated by all annihilation
operators:

a|0) =0 (7.27)

The one particle state with momentum £k is defined as

k) = afl0) (7.28)

and the Hermitian conjugated state

(k| = (Olax (7.29)

The one particle state are orthonormal:

(kK'Y = (0laral,|0) = (0] [ak,a;,} 10) = (27)%2w 8% (k — &) (7.30)

where we used (7.27)), (7.22) and the vacuum normalisation (0|0) = 1.
Analogously we define a multiparticle state (free particles!) as

Ini, ki; .. nn, k) = \/%1' (azl)m . ;N' (a,TCN)NN |0) (7.31)

ny-:

According to thi notation the previous one particle state |k) should have been written
as |1, k).

The energy of the vacuum is, because of the second term in , strictly speaking
infinite. In fact, if we use the definition (|7.22)), we get

H= / (25—3’;%% (azak—i— (2%)3wk53(0)) (7.32)

However, in the absence of gravity, we can put the zero of the energy anywhere, since
only energy difference are measurable. Let’s then take as the natural value for the energy
zero. This can be formally obtained by the operation of normal ordering , which
organises an arbitrary product of creation and annihilation operators, so that all creation
operators stay on the left of all annihilation operators. In this way for example

N <ak1a22> = azzakl (7.33)

The Hamiltonian gets defined then as

H= / d*zN (H) (7.34)

3in literature the normal ordered operator@, ie. N (O), is seldom written as : O :.
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and is in our case

Er
H = (27?)—32wkwkakak (7.35)

The energy of the multiparticle state ([7.31)) equals

FE = nwi + ... +Fnywy (736)
Similarly as ((7.35)) we can define also the momentum operator:
. Bk -
P= [ ———ka] 7.37
/ (27T)32CU]<; akak ( )

so that for the multiparticle state (7.31)) it equals
f’:nlgl—l—...%—anZN (738)

7.2.2 The complex scalar field

The generalisation is easy, we have to take two types of operators, ay, aL and by, bL:

o(z) = / (ﬂ (ake’i’“ - bze““) (7.39)

27)3 2wy,

The operator al (ay) creates (annihilates) a particle, the operator bl (by) creates

(annihilates) and antiparticle. In the previous (real) case we had by = ay, the particle
was it own antiparticle.
Their commutation relations are now

[ak,a;] - :bk,b;,} — (27)2w 03 (k — ) (7.40)
lap, ap] = :aL,aL,] = [b, bp] = [b;;,b;/] ) (7.41)
lag, bi] = :aL,bL,] = [ak,b;] = [bk,ali,} =0 (7.42)

Completely analogously with the previous case we can now derive

>k

which is the sum of particles’ energy and antiparticles’ energy.
The vacuum state |0) isdefined a that state, which is annihilated by all annihilation
operators, those for particles (ay) and those for antiparticles (by):

a|0) = b;,|0) = 0 (7.44)

It is interesting to see, what happens with the interpretation for the conserved current
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J =i (60"0" — ¢°09) (7.45)

Written with operators the charge is

. d*k
Q= /d3l’]0 = / (27r)—32wk (azak — bLbk) (7.46)

Here we explicitly see that antiparticle contribute to the total charge oppositely as
particles, from here their opposite sign. They contribute the same to the Hamiltonian,
though. The current j# is thus the charge current of the complex scalar field.

7.2.3 The Dirac field

Let’s consider now also fermions, i.e. particles with half spin, in our case only spin 1/2.
The situation is somehow analogous to the complex scalar field, but now the free fields
should satisfy the Dirac equation instead of the Klein-Gordon equation. It is thus natural
the following expansion:

D(x) = / (2:;—3/;wi (aius(k)e’““+bZTvS(k)e”m) (7.47)

If we now assumed, as in the case of a complex scalar field, the commutation relations
among the operators ay, by, etc, we would end up with problems: the Hamiltonian would
be unbounded from below. For this reason we have to assume the anticommutation
relation among them (in general this means {A, B} = AB + BA):

{a;,a;’i } = { s B } = (27)32w;, 0% 3 (k — k') (7.48)

{a;,az’,} - {azf,a;’ﬁ} - {b;, k} - {b;T,b;’,T} —0 (7.49)

{abi} = {al ity = {aront} = {or.ait} =0 (7.50)

Stated differently, if we change the order of two arbitrary operators, we always get a
minus sign, while in the case we get also an addition.

The energy of an arbitrary system is now bounded from below. Th e Hamiltonian is
in fact

d*k st s | pstis

and is explicitly positive definite.
The vacuum is defined via

ai]0) = b3|0) = 0 (7.52)
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7.2.4 The Maxwell’s field

Very shortly we give jut the result for the massless case. The expansion used is

27)3 2wy,

Ade) = [ G E (a0 g me) (7
A

where we sum up over all polarisations A and where the polarisation vector satisfies the
constraint

ki) =0, S k) (k) = —g* (7.54)

7.3 Exercise 4
e Derive (7.19)) and (7.36]).

e (Calculate the vacuum expectation value of the time ordered product of two free
scalar fields

To(x)o(y)|0) = (010()o(y) 0)O(" — )
+ (0]o(y)e(x)| 0)O(y° — 2?) (7.55)

and show that it satisfies the equation (¢ =7)
(02 +m?) (0| To(x)(y) | 0) = c8'(x — y) (7.56)

7.4 Exercise 5

e Instead of the anticommutation relations use for the Dirac field the (wrong!) com-
mutation relations and show that the Hamiltonian is unbounded from below.

e In the case of a real scalar field show that causality is satisfied: check that [¢(z), ¢(y)] =
0if (z —y)? <0.

7.5 Fields in different pictures, the operator of time evolution

So far we considered operators for free fields. The expansion of the field under the creation
and annihilation operators went through . This field is in the interaction picture,
i.e. it gets evolved in time via the Hamiltonian for a free field. We can see this better
if we define a time independent field, i.e. the field in the Schrédinger picture via (o is
arbitrary)

bs(z) = ¢(ty, &) = e Holl=t0) () eiHo(t=to) (7.57)
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where we have for example for a free real field

Hy= [ o} (@) + (V0)a) + me?(2) (7.58)

That the right-hand side |7.57)) is really time independent can be seen from the simple

fact that, using (|7.35)),

emiHo(t=to) o piMo(t—to) _ giwn(t—to)g e—iHo(t—to)alez’Ho(t—to) _ e—iwk(t—to)az (7.59)
From here it follows that
Ho(¢) = Ho(¢s) (7.60)
and so
o(x) = ez‘Ho(ebs)(t—to)gbs(a;)e—iHo(aﬁs)(t—to) (7.61)

Similarly we define the field in the Heisenberg picture as the one which transforms in
time through the full (not free) but time independent Hamiltonian. In this way /

br(r) = eiH(¢s)(t—t0)¢S(x)e—iH(¢s)(t—t0) (7.62)
If we collect everything

on(w) = UT(t,to)p(x)U (¢ to) (7.63)

where we defined the time evolution operator in the interaction picture as

Ult, ty) = etHo(¢s)(t—to) o, —iH(¢s)(t—to) (7.64)

We want to write this operator with ¢(x). For this purpose we take the time derivative:

%U(tto) = Ho@s)(t=t0) ([ () + H(gg)) e H(@s)(tt0)
= Hiu(9)U(t,t0) (7.65)

where we too into account that the interaction part of the Hamiltonian

is typically a polynomial of the field.

If H;,; were a function, the solution would be simply U = exp(—i f dt Hipnt).
But now we have to do with operators, not with functions, so the equation (|7.65|) with
the initial condition U (ty,ty) = 1 is solved at most perturbatively, for small H;,;:
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Ut o) = 1+ (—i) / b () + (—i)? / 'l Ho (1) / iy Ho(t) . (767)

to to to

We notice that products of the Hamiltonians are alway time ordered: first (on the
left) are the Hamiltonians at late times, then those at initial times, i.e. Hjni(t1)Hine(t2)
if t{ > t5. A we already mentioned, we have in general to do with noncommutative
operators, so we need to take care of this orderings. To get a more symmetric notation,
we introduce the operator of time ordered product T

7 (@1@1)@2@2)) = O, (t))Oa(t2)0(t1 — t2) + Oa(t)O1 (1)0(ts — t1) (7.68)

Te quadratic part can be rewritten for t > ¢y as

t t1 1 t t1
/ dtl/ dtoHip(t1)Hint(t2) = a0 </ dtl/ dtoHint(t1) Hint(t2) + (11 < t2))
to to : to to

1 . t t
—— / dt, / dts Hyng(t1) Hona (£) (7.69)
21 Ji, ‘o

Similarly we can treat an arbitrary power, which brings us to the final result

U(t,to)ETexp(—z’ /tdtht(¢(x))) L t>t (7.70)

to

What if t < tg? Then, if we repeat the above exercise,
Ult,to) = [Ulto, t)]' (7.71)
The operator ([7.64]) can be slightly generalised, defining
Ulty, o) = etHo(¢s)(t1—to) o —iH(¢5)(t1—t2) ,—iHo(ds)(t2—t0) (7.72)

which is explicitly unitary and the same as the previous definition (7.64)) when ¢, equals
the reference time t3. Now it is easy to confirm that such a unitary operator U satisfies
(tl >ty > t3)

Uty t2)U(ta,t3) = Ult,t3) (7.73)
Ut 1)U (b t) = = 1 (7.74)

For this reason we have for example

U(tl, t3)U<t3, tg) - U(tl, tg) [U(tg, tg)]T - U(tl, tQ)U(tQ, tg) [U(tz, t3>]_1 - U(tl, t2) (775)
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7.6 Correlation (Green) functions

Correlation function are defined

Op|Ton(x1) ... ou(xn)|0x) (7.76)

We would like to write it with the fields ¢(x), which we know how to expand in
creation and annihilation operators. Fo the field ¢y we use , what we still miss is
relate the vacuum state [0y) with the vacuum state |0) defined via (7.27). As is |0) the
vacuum state of the operator Hy, so i |0g) the vacuum state of the operator H. This is,
the smallest eigenvalue of the energy operator H. Generically

Let’s calculate now
e M0y = e T04) (0u]0) + Y e Ing) (nul0) (7.78)
n>0

We can think that all energies have a small negative imaginary part. Then all higher
states exponentially decay faster than the ground state for a big enough time 7" (so that
we can safely take T' — T + ty):

e~ iH(T+to) |0> e—tH(T+to) piHo(T+to) |O>

) = 0 BT (0,]0) ~ P e BT (0]0)

(ol T (—) o) VT t)] [0
= lim 4 = lim — -
T—o0 e~ 1Eo(T+to) <OH|O> T—o0 €7ZE0(T+t0)<OH|O>
= 111_{1;0 e—iEo(T+to)<0H’0> (7.79>
where we took into account that
Hyl0) =0 (7.80)
Similarly, from
(0l T = = ET(0]05) (0| + . .. (7.81)
we can derive (homework!)
o (OlU(T’, 1)
<OH| - j’l‘glgo €7iEO(T7tO)<O|OH> (782)
From the normalisation constraint we get
o0|u(T,-T)|0

7% e BT[(0[0,)]?
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ie.
lim e 2#7|(0|0g)|* = lim (0|U(T, —T)|0) (7.84)
T—o0 T—o00

The correlation function is thus

. 1
On|Ton(1). . dn(2a)l0n) = lm ——pas 007) (0lU(T, 1)
xT [UN (@9, to)p(x)U (22, t0) . .. UT (2%, t0)d(,)U (22, to)]
1

X e—iFo(T+to) <0H|0>

(0|7 (1) ... () U(T, —T)|0)

Ulto, =T[0)

= i 7.85
T (O|U(T, =T)|0) (7.85)
and due to H;, = — Ly we can rewritten with the free field (in the interaction picture):
. O1Td(x1) ... d(xn) exp (i [ d*aLini(d(2)))]0
Onl T .- o)) = LA O] 00 (] b D)0 7 5

(0|7 exp (i [ d*xLin(6(2)))]0)

We will constantly use this equality and calculate the correlation functions from the
right-hand side. As we will see, these correlation functions are directly related to physical
quantities as for example the cross section or decay width.

7.7 The Wick theorem

Now we essentially have all we need to compute the correlation functions. In the right-
hand side of eq. (7.86)) we expand the exponent. The interaction term of the Lagrangian
density is typically a polynomial in fields. In the so-called ”¢*” theory we have for example

_ 1 2 L9 5 A
L= 2(8¢>) 5 ) 1 (7.87)
and so
Ay
Lint(d(x)) = ] (2) (7.88)
What we need are thus the correlation functions for free fields, i.e.
(01T (1) .. . (ym)|0) (7.89)

In principle we know how to get them: Taking into account the time ordered product
we expand the free fields in the interaction picture in terms of creation and annihilation
operators. For a real scalar field it is the expansion ([7.20]). This way, although clear, is
a bit long, especially if we have to do with a product of many fields. It turns out that
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things get much simplified if we take the vacuum expectation value of such a product.
This simplification and such a rule goes under the name of Wick’s theorem, which we will
present now.

We split the field ¢(z) into a part with positive energy ¢t (z) and a part with negative
energy ¢\~

plx) = ¢ (x) + ¢ () (7.90)
t(x) = —d3k; age k. “(x) = —d3k al etk
@ = [ 1 @)= [ ! (.91)

27)32wy, 27)3 2wy,

Notice that ¢(*) has annihilation operators a; and a minus in the exponent exp (—ikx),
while ¢(~) has creation operators az and a plus in the exponent exp (ikx), and not the
other way! Then

A

N [p(x1)(x2)] = @7 (21)¢7 (22) + ¢ (22)¢" (1) + &7 (21)97 (22) + ¢7 (21)¢™ (22) (7.92)

For two fields we have

~

+ [x1 > x9) O(z9 — 29)

= (N [@)ow)] + [6" (01), 6™ (2)] ) ©(a8 — 29)

To(x1)d(z2) = [&F(21)0" (22) + ¢F (21)97 (22) + &7 (21)9™ (w2) + ¢ (21)¢™ (22)] O (2] — )

)

+ (21 ¢ 23) O(2) — 27) (7.93)

This notation is particularly useful since the vacuum expectation value of a normal
ordered product is always zero

(0IN1O]]0) = 0 (7.94)

while the rest is easily computed:

_ d3k; A3k _ibymtikaze
[ @), 7 ()] = /(2%)32%1/(27?)32%2 [ak“azz]e e
3

2#)32(.%

This is a c-number, not an operator anymore, so

(O ¢ (21)p(2)[0) = [¢7 (21), 67 (22)] O(2) — ) + [¢7 (w2), ¢ (21)] O(a§ — 2) (7.96)

The integral representation for the Heaviside step function is
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400 dw eiwy

O(y) = — 7.97
(v) / o 2Miw — 1€ ( )

since for y > 0 one can close the integral with the upper half circle at infinity with zero

contribution (exp (—Im(w)y) — 0) so that the closed upper half-plane contributes exactly

1, while for ¥ < 0 one needs to add the contribution of the lower half circle at infinity

(now exp (+Im(w)y) — 0) but there is no pole in the lower half-plane giving zero.

Then

~ dgk dw —1 . 00Ny :D(m =
olr 0) = " o Ji(wewk) (2] ) ik (T —T2)
OFoe)ote0) = [ 55 [ S + (o o )
(7.98)
defining a integration variables as
K = —w 4wy (7.99)

we get

d*k —1
(271’)4 2wk (wk — kO — 26)

(e—ik(m—m) + eik(m—m)) (7.100)

<O’T¢($l)¢(l’2>‘0> = /

Then we change £ — —Fk in the second integral and get

R d*k —ie"th@1—a2) 1 1
0|T 0) = 7.101
(O[T ¢(x1)¢(22)[0) / (2m)4 2wy, (wk — kO — e + wi + kO — z’e) ( )
and using
w? = k2 +m? (7.102)

we finally arrive at the known result

(0|7 (1) $(2)]0) = / (;l:); k2 — nl;ﬂ + i€

The correlation function of an odd number of free fields is always zero. Repeating the
procedure for four fields we get (exercise)

¢ ke r2) (7.103)

(01T (21)¢ () 0) (0T 6 (x3)(4)[0)
+ {0176 (a1)@(3)[0){01 T (2)(4)[0)
+ {0176 (1) @(24)[0){01 T () é(5)[0) (7.104)

(O $(1)d(2)d(3)$(4)|0) =
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The correlation function for free fields is thus just the sum of propagators with all
possible permutations. This can be easily generalised for an arbitrary number of free
fields. This is the Wick theorem.

We can now derive the Feynman rules. Take the ¢* theory:

L=Ly+ Lin: (7.105)
N 1, m? 2 - Ay
‘CO — §8¢ 7¢ y Eznt — @

The Feynman rule for the propagator in z-space is given by (7.103]) and so in p-space

(7.106)

l

—_ 1
k2 —m? + e (7.107)

while we derive for the vertex

O s(an)ote)oteaoten) exp (i [ dun(o() ) 0
S iy [ OO o) 6ol () )
= -\ / d*2 (0T (1)$(2)]0) (0T 2) $(2)10) (0T ¢ ) $(2)10) (0T b :4) $(2)10)

—ikix;

- H/ ) 4 k2 — m2 T 26(277-)454(]{3 A ky) (—iN) (7.108)

As we see, the Feynman rule for the vertex in p-space for the ¢* theory

— i\ (7.109)

7.8 Exercise 6
(A)

e In the ¢* theory compute the 6-point Green’s function for connected diagrams up
to order O(A\?). How does it look in p-space?

e Draw all connected Feynman diagrams for the 8-point G.f. up to order O(A\?). Use
the Feynman rules and write down the same G.f. in p space.

e Compute the 2-point G.f. in p space up to O(\). What goes wrong?

(B)

Consider a model with two real scalar fields ¢ and x with the Lagrangian

_1 2 1 2_122_122_&22
= 5(00)" + 5 (0x)° = gmgd” — gm X" — 79X (7.110)
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1. Derive the Feynman rules in p space.

2. Draw all connected Feynman diagrams for all possible 2-point Green functions to A
and 4 and 6 point G.f. to order \2.

3. Use the Feynman rules in p space for all the above cases.

8 * The generating functional (2h15min)

In this section we will rederive the Feynman diagrams and rules, but now, instead through
the canonical quantisation), directly from the path integral. For this case we will generalise
what we have already derived in the classical approximation. We will first consider a
system of free field, and then introduce the interaction. We will see which Feynman
diagrams we have to add to get quantum corrections, and how we should generalise the
Feynman rules.

8.1 The example of a free field

Clearly this example is not interesting for its dynamics, since there is none. We will get
acquainted with the methods and put the basis in the simplest case, the one we know
how to solve exactly. We will then evolve perturbatively around this solution.

Let’ s consider a free bosonic real field with zero spin. We have already encountered
such a Lagrangian, the KG one:

2
Lo= 3 (00 ~ "2 ? (81)

Whatever else with a higher power of ¢ becomes interaction, the part which we know
how to treat in 4 dimensions only perturbatively. This essentially follows from the fact
that we are able to analytically perform only the Gauss integral, whatever is of higher
power in the exponent is out of our reach. We have to put in a Gauss form the action
with the Lagrangian plus the source term

/d4x B (9¢)* — m?gzb? + ng] = /d4:c [—%(b (0 +m?*) o+ Jo (8.2)

Going to the right-hand-side we integrated by parts, taking into account that fields
are negligible at infinity.

We integrate the exponent of this action over D¢, so we better get rid of the linear
term in (8.2). We thus make a translation ¢(z) — ¢(x) + ¢o(z) (the integral measure
does not change under it, Do(z) — Dp(x)) and get

/d4$ {—% (¢ + ¢o) (2 +m*) (¢ + o) + J (¢ + o) (8.3)

¢o(x) can be arbitrary, so we choose it to be the solution of
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Figure 5: The first approximation to the 2-point Green function.

(82 + mz) do(z) = J(2) (8.4)
What is left is thus
/d4x [—%¢ (32 + mz) ¢+ %J% (8.5)

¢o(z) is essentially via (8.4)) a functional of the source J(z). In the previous sections
we have already defined the Feynman propagator A(z) as a solution of

(02 +m?) iA(z —y) = —id*(z — y) (8.6)
so that

do(z) = / Iy iz — y)id(y) (8.7)

We can evaluate the Feynman propagator, the most used form is through its Fourier

transform:
d4k ie—ikz
A(z) = .
iA(2) / (2m)4 k2 — m? + ie (88)

To evaluate the full generating functional we need to integrate over D¢(z): whatever
this integration gives, it is irrelevant because it gets canceled by the same factor in the
denominator. What remains is (with the index 0 we denote the generating functional for
the free field)

WolJ] = % / di / dhy i (2) Az — y) i (y) (8.9)

From here we can, using the definition (6.23]), immediately check, that the only nonzero
connected Green function for the free real scalar field is

Go(l‘l,l’z) = ZA($1 — (L’Q) (810)

while all the others are zero. The free field can propagate undisturbed.
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8.2 Interaction

So far we compute everything exactly for the case of a free field. Of course the interesting
part stays in the interaction, which we will include now. We can do it for example by
adding to the free Lagrangian the term (8.1

A
L=1Ly— Z¢4 (8.11)

Before continuing a word on the mass dimensions of the various quantities. The
coordinates have mass dimensions [z] = —1; since the action is dimensionless, we find
that [£] = 4 and [¢] = 1, so that also the coupling constant X is dimensionless (this is
why we choose exactly such an interaction).

Already this apparently minimal addition makes the problem much harder, so that
we are able to calculate the Green’s functions only perturbatively. Let’s assume that this
extra interacting piece is small enough (i.e. A < 1), so that W[J] can be expanded in
powers of A.

Let’s now see how the generating functional changes in the first order of powers of
A. We know already the result, since this is exactly the classical approximation. We will
rederive it now once again, in a slightly different way. We have to do with functions and
not operators, so we can separate the exponent part with interaction from the rest:

S Do) exp [i [ i (4(06)2 — m26* — 0% + Jo) |
I Dé(x)exp [i [ diz (§(0¢)* — 0% — §¢*)]
_ I Dg(x) exp (—ig; [ d'z¢") exp [i [ d'z (Lo + J¢)] (8.12)

(as above) ;_,

exp (iIW[J])

From the simplified example

/ da f(z)e7® = f (dij) / de® (8.13)

we guess an analogous form in the case of functionals:

exp (—i% [ d*z <6ij(z)>4) [ Do (x) exp [ifd% (Lo + ng)]

exp iIW[J]) = (as above) ;_,
eéeiWO[J} 1+ <1 + O) (eiWO[J] — 1)
_ 8.14
(as above) ;_, ” (as above) ;_, &1

where we defined

0= /d4z (—i%) (%@)4 (8.15)



oo e

(@) (b)

T4

Figure 6: Two cases of non connected graphs.

in kept only terms up to order \.

The denominator normalises W[0] = 0. In the following we will be interested only in
Green’s functions, so we will skip it.

Let’s now consider the 4-point Green function: obviously we need to expand exp (iWy[.J])
to the eighth order of the source J (four powers will be cleaned up by the four derivatives
due to the interaction ¢*, the remaining four by the four derivatives from the definition
of the 4-point Greens function from the generating functional ), which means to
order (iWp[J])*. At first glance one could think that we can expand only up to the fourth
derivative of the fourth power of iWy[J], and that we do not need to expand the term
independent of 0. However, doing like that we would get also the unconnected diagrams,
as for example those on fig. @ The logarithm takes care of cancelling such unconnected
diagrams, so we need to consistently expand the logarithm:

W) = log (14 (140) (V1 1))

= |(1+0) (™ - 1)| - % [(1+0) (™ot — 1)]2

+ % [(1 n O) (6iW0[J] B 1)]3 LWl (eiWO[J]) (8.16)
s (WolJD)t W[ (W[ )2 A (iWp[J))?

where we wrote down only the terms, which contribute to the final result.
We now take into account that third and higher derivatives of the functional iW;[J]
vanish:
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Figure 7: The first approximation to the 4-point Green function.

() 57 - (‘Séf?[”) ot () (i)

2
+ ZWO 0 ZWO )

(s
(5 ) i _ g (sl (5%% L) el (S
|

(5@?@))4 <ZW;EJD2 - (5?% ;l) (8.17)

If we sum up everything and take into account that

GiWolJ] [ 4 _
5i7(s) /d wiJ(u)iA(u — 2) (8.18)

we see that the unconnected diagrams indeed cancel out. It remains

Wiy - / dtz (—23) (%Wﬁ)
- /dxl.../dm%J(m)...J(f&O

X (—1) / dziA(xy — z) .. iA (x4 — 2) (8.19)

The final result for the 4-point Green function is (up to order \)

G(z1, T2, T3, 24) = (—IN) /d4ziA(:L'1 — 2)iA(xg — 2)iA(x3 — 2)iA (x4 — 2) (8.20)

which we already know from (5.42)), reminding that now V" = X and V" = 0. For this
reason we have, instead of the four graphs in fig. |3| only the first contribution, which is
shown once again with the Feynman diagram on fig.
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As we have already seen, we can systematise this procedure (Feynman rules for the

theory ¢* (8.11]) in coordinate space):
1. first we draw all connected Feynman diagrams with given external points x1,...,x,

2. the vertex is in the point z, to it belongs the term —i\ (i because we always have
exp (1S), —A because this is how the interaction term looks like in (8.11]),4!, since
this is exactly the right number of ways we can connect four external points to the
vertex);

3. each link means a propagator iA(x; — z);
4. we need to integrate over the whole spacetime z.

The next step is to Fourier transform all propagators on the right-hand side of the
equation as in (8.8) and integrate over the coordinates of the interaction z.

Gi(71, 19,73, 14) = /(2?)14/((2?)24/(i?;4/(2?;4

X (2054 (py + pa+ pa -+ pa)e s
X (=i 8.21
SN o e = e 521
In general we can define the n-point Green function in p space G(py,...,py) as
d*p, d'py _;
Gi(xy,...,x = e e i P1z1t A paza)
1@ 2 / (27)1 / (27)
x (2m)**(p1+ ... +oN)G(p1, ..., DN) (8.22)
In our case this is
G(py, ... = (—1A 8.23
(p1s -+ pa) = ( )p%—m2 P2 —m?2 p2 —m? p? —m? ( )
The Feynman rules for the ¢* theory are even simpler in p space:
1. draw all connected Feynman diagrams with given external particles 1,...,n

2. for every vertex write —il\;
3. for each propagator take i/(p* — m?);
4. in every vertex the total 4-momentum is conserved;

5. the conservation of 4-momenta in all vertices does not determine all internal four-
momenta; we have to integrate over all undetermined ones, for each of them we have

then [ d'q/(2m)%;

o4



6. the symmetry factor: if all 4! do not get canceled, one needs to take this into account.

Regarding the propagator and vertices, we denote them as

. P2—m?

—iA

It is not strange that these rules are in accord with those obtained with the canonical
quantisation.

8.3 Perturbation and loops

In the above case we computed the 4-point Green function to first order in powers of .
What we get on top with this procedure are the quantum corrections, although we have
not derived them yet. These are proportional to higher powers of A on a given amplitude
(Green function). We see this is the case from equation (6.12), taking into account our
Lagrangian and redefine the field as ¢ — h'/2¢. In a given number of external
particles (fixed number of derivatives over J) the quantities A and % enter only through
the combination A\, which proves what we said.
What type of diagrams give higher powers of ) in the ¢* theory? For a diagram with
E external legs, I internal propagators and L closed loops the following relation is always
satisfied:
4—FE=-2]+4L (8.24)

which follows simply from dimensional analysis. In fact

(W] = M" : [J] = M3 (8.25)

and each functional derivative due to ([5.36))

[0/6J] =M (8.26)
so that the E-point Green function in z-space ([6.23)) has the dimension

[GE)(z)] = MP (8.27)
So the Green function in p-space (|5.44))
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(G (p)] = M%7 (8.28)

Each loop gives an integration over the internal four-momenta (together 4L integra-
tions), each propagator contributes two inverse mass dimensions (together —2(I 4+ E)).

Due to the fact that 4 propagators exits from each vertex and that each internal
propagator is shared by two vertices, we can similarly derive that

E+2I =4V, (8.29)

where V} is the number of vertices. From here we get the relation

L=1+V,— E/2 (8.30)

which tells us that at the fixed number of external legs the number of loops and the power
of the coupling constant increase the same way.

So, let’s repeat. To compute physical quantities (cross sections, decay widths), with n
external (initial incoming and final outgoing) particles, we need the n-point Green func-
tion. This is illustrated with connected Feynman diagrams, while the Feynman rules relate
to each diagram an analytic expression as function of the quantum numbers (momenta,
spin, etc.) of the external particles.

8.4 Exercise 7

e The equivalence between the canonical formalism and the path integral is shown by
the equation

(O[T F[gle’) £ni@]0) [ De(a) Fg]e’/ o0l +£me(@) a1
O|TetS Lt @(0) [ D(a)et S Lol@)+Lin()) '

where on the left-hand side qg(x) are free field operators, which are expanded as
usually with the creation and annihilation operators (canonical quantisation), while
on the right-hand side ¢(x) are simple functions.

In the known ¢* model show the equality (8.31)) up to order X for the case of 4-point
Green function. Compare single terms in both cases.

9 Physical quantities (45 min)

Once we have a n-point Green function, the next step towards a physical quantity is the
so called scattering or S matrix. The Green function is already almost the right thing, but
surely not completely. The external particles obey the on-shell condition between energy
and three-momentum, p? —m? = 0. If we impose this constraint, the external propagators
of the Green function would diverge, since these are their poles. The correct prescription
is however simple, one needs just to keep the residuum of this pole. The number of poles
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tells us how many external particles are involved in the process, while the residuum is the
amplitude: imagine we are interested in the scattering process of particles described the
above Lagrangian ¢, let’s say a particle with four momentum p; hits another particle
with four-momentum p,, while the outgoing particles have four-momenta ¢;, j = 1,...,n.
The amplitude for such a process is simply

2 n
iT(p1,p2i 1, qn) = ) lgg ) [_i (p7,2 - m2)] H [_i (%2 - m2)] (9.1)
Pdi—m™ iy j=1
X G(prp2, @1, @n)(27) 0 (1 + P2 — 1 — - — )
= Gamp(P1: 02,01, 0 27) !0 1+ P2 = = =)o o
= iA(p1,p2, q1, s %)(27)454(]91 +P—@ =~ Gn)

It is thus enough that for the computation of the Green functions we do not include the
external propagators, those connected to external particles. We call such a Green function,
Gamp, the amputated Green function. We see also that the total 4-momentum must be
conserve. The difference between amputated Green function Gy, and the amplitudeﬂ A
is in the fact that the four momenta of the external legs in the amputated Green function
are arbitrary (subject only to the total conservation of four/momentum), while in the
amplitude they satisfy the relation p? = p2 — P2 = m2. When this relation is satisfied, we
say that the external particle is on-shell: very far from the interaction point such particles
behave in a good approximation as free and thus have in a good approximation a well
defined four momentum (they are waves exp (—ip;z;) or exp (ig;y;)).

Keep in mind that only external particles satisfy the on mass shell relation (p* = m?).
The internal particle of a Feynman diagram are virtual, their energy k° and three mo-
mentum £ are not related in any way (they are independent quantities), so the internal
propagators do not diverge (except in special cases, but this happens only when we inte-
grate over the whole four/momentum of the virtual particle).

9.1 * The amplitude from the path integral
Equation (9.1)) can be written more formally. First we define the so-called S-matrix

3::N[ﬂp(é/(&é@)@g+ﬂf)&jéiﬂ(NVUD

where the canonically quantised operator for the free real scalar field

(9.2)

J=0

a@:/vfz—@@eW+ﬁ@wm (9.3)

27)32pg
satisfies the Klein-Gordon equation (p*> = m?, py > 0)

4In a sloppy way we call with the same name ampliutude both the quantity 7" as A from the definition

E1).

57



(92 +m?) d(z) = 0 (9.4)

and the operator N is the normal ordered product. As we know, it acts on operators
bringing all creation operators to the left of all creation operators.

The elements of the S-matrix are products in Hilbert space of initial states (kets) and
final states (bras). We get the amplitude as

iT(p1, p2; 1, ¢2) = (q1¢2] (5 - f) |p1p2) (9.5)

where 1 is the identity (particles that go out are the same and with the same momenta
etc. as those that go in - nothing has happened).

9.2 The cross section

As we know already from quantum mechanics, the main information on the scattering
process is in the cross section. When we have the amplitude, we can get the cross section
similarly as in quantum mechanics. Let us remind this derivation. To simplify the prob-
lem, let us consider the scattering of two scalar particles into two scalar particles (the
generalisation to a final state with more particles is direct, while we will comment later
the cases of fermions or gauge bosons).

The amplitude for such a transition is

iT(/ﬁ, k27P3,P4) = (27)454(]?1 + ko — p3 — p4)iA(/f1, k2,p37]?4> (9-6>

Strictly speaking, the initial particles are wave packets, i.e. distributions for different
momenta with a sharp peak around p; or ps (such is the usual experimental situation).
The initial state is described more precisely by

/dkl/df@ Ji(k1) foka) |1 kz) (9.7)

where we used a short notation for the Lorentz invariant integration measure (w? — k? =

m?)
Pk

dk = ————
(2m)32w

(9.8)

The square of the amplitude is then

/ ai / i / dé, / 4o (k) £ () o) f3 (02)

X (2m)*6* (k1 + ko — ps — pa)(27)*0* (@1 + @2 — p3 — pa)
X A(ky, k2, ps3, 1) A" (q1, @2, D3, Pa)

We rewrite the second d-function in as (using the first d-function)
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@m0 (@ + g2 —ps—pa) = (21 @1+ o — k1 — k)
— /d4xei(lI1+Q2—k1—kz)x (99)

keeping in mind that the wave packets have a sharp peak at p;and. ps, so that we can
write

(2m)* 04 (ky + ko — p3 — pa) Ak, ko, p3, a) A*(q1, @2, P3, D4)
~ (2m)*6* (p1 + p2 — ps — pa) |A(p1, D2, p3, pa) | (9.10)

and define the Fourier transform of the distribution f;(k;)

filz) = / i (k)57 (9.11)

so that the square of the amplitude becomes now (in the remaining J-function we have
already transformed k; with p; before)

/d4a: ‘fl(x) i

In the final state we are not looking after states with infinitely sharply defined 4-
momenta ?374, but all states with momenta in the interval between ?3,4 and ?3}4-%61?374,
so we have to multiply the above expression with the Lorentz invariant number of such
states

i (m)‘z (2m)*6* (p1 + p2 — p3 — pa) |A(p1, P2, 3, pa) | (9.12)

dpsdp, (9.13)

All together the probability for transition for a unit volume and time is

2. 2
= ‘f1(95)‘ ‘fz(x)‘ |A(p1, P2, p3, pa)|? d Lipsa(py + p2; p3, pa) (9.14)

where the Lorentz invariant phase space for n particles with total 4-momentum P is
defined generally as

d Lips,(P;py,...,p,) = (27)*0*(P sz H 3 (9.15)
pr g 27T) 2w

The cross section do is defined from

w
VT = =dojp (9.16)

where the target density (let’s be in the laboratory system, where the particles 1 have
zero velocity) is
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filz) “om (9.17)

(we took the standard state normalisation 2pg), while the flux is made of particles 2:

p:

ﬁ(@fz%\ (9.18)

In general the seemingly non-invariant product m|?2] can be written down in a
Lorentz invariant way as

j:

m| T2l = [(mp2)® — p2p2]? (9.19)

Finally the differential cross section is

2
|A(p17p27p37p4)‘
2 1/2
4 [(p1p2) - P%P%}
This quantity is a Lorentz scalar, invariant of the choice of the coordinate system in
which we measure.
The generalisation to scattering of two particles into n + 2 particles is now logically
unproblematic:

do(p1pa — paps) = d Lipss(p1 + pa; p3, pa) (9.20)

A(p,p2,p3, - - Pus2)l”
do (p1p2 —>p3~--pn+z)=‘ (b1, P2, s fiﬁ‘ d Lipsn(p1 + p2;ps, - -, Puy2)  (9.21)

4 [(p1p2)2 - p%p%

9.3 Decay width

Usually we are not interested into the possibility that three or more initial particles
scatter, since the probability for three particles to meet each other is usually negligibly
small. There is however another possibility, i.e. a single initial particles decaying into final
state. In this case we do not speak about cross section but the decay width. As we know,
this changes in different inertial systems (particles which fly by live longer according to
a static observer). What we usually mention is the decay width for a particle in its own
inertial system. For it we can use almost the same equation as for the cross section (we
skip the flux) and get

AP.p1,....o0)°
dF(P—>p1...pn):| ( p12m Pn)| d Lips,(P;p1,...,pn) (9.22)

where in the system of the decaying particles we have of course P = (m, 0).
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10 Quantum electrodynamics (QED)
(2h 15 min)

10.1 The Lagrangian

This is the field theory which describes the electron and the photon., i.e. the electro-
magnetic interaction of a charged fermion. The Lagrangian, which describes it, has been
already written down

- . - I .
L =iy (0, —ieA,) v — myyp — ZF" F. (10.1)
where the field strength
F,, =0,A,—0,A, (10.2)
is found from the requirement of gauge invariance under local (spacetime dependent)

phase U(1) transformation:

, 1
w N eza(fﬁ)w , AH — A# + gaMOé(ZL’) (103)

10.2 Feynman rules

We can derive the Feynman rules similarly as in the case of a scalar field.

10.2.1 Propagators

Let’s first consider the propagators. We get them in p space as the inverse of the quadratic
Lagrangian term. In the case of a real scalar field the ¢ times the action in the exponent
of the path integral was

i / d2L(6(2), 00(2)) = i / d%% [(96)? — m2¢?] + ...
1

_ ! / d'2 6(2) i@ + m?)(2)

iS[¢]

2

= =5 [ G o) (=6 =] 60 (10.4)

where we arrived tot he second line after integration by part, and to the third one by the
Fourier transform

o) = [ o™ (10.5)

The propagator of the real scalar field in p space is defined as the inverse of the square

bracket in ((10.4)), i.e.
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Gs(p) = ——

IR 10.6
e (10.)

In the case of a complex scalar field, there would have been no 1/2 at the beginning,

but the result would have been the same as ((10.6]).
We can proceed in the same way for the case of fermions

Gr(p) = (10.7)

where

P="pu (10.8)

A problem arises if we use the same procedure for the case of a vector field. In this
case we get after the integration by parts and the transition to p space

Z/ * (_}1) Fu F™ = _%/ (§;§4A“(—p) (i (PG — Pu)] A" (p) (10.9)

But the inverse of the square bracket does not exist, since the matrix p*g,, — p,p, has
an eigenvector p” with zero eignevalue!

Although this may seem strange, we should have expected some problem since we
never choose a gauge. So we now correct the mistake and without breaking Lorentz
invariance add a term (4.9)):

1
2%

This can be understood even better in the path integral formulation. Without this
extra term, which breaks gauge invariance, the integral looks

Lop = —5-(04) (10.10)

/ DA, e S (10.11)

where S;,, is the invariant part of the action. This would be analogous to an integral of a
periodic function of an angle «a, for example f(cos(a)), from —oo to +o0 instead from 0 to
2m. Said differently, the integrand has too much symmetry. We have to integrate
only over ”one period”, and so we choose the gauge, i.e. we exchange the above integral
with for example

/ DA,S(DA)e SmlA] (10.12)

We repeat the above calculation
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i/dz K—}l) E, B — %(814)2

- _%/ (;lﬂz))ﬁ”(—ﬁ?) (i (P — (1= 1/&)pupn)| A”(p) (10.13)

We guess the inverse as

GV (p) = A(p*)g"” + B(p*)p"p° (10.14)
and of course require
[i (pQQuV - (1 - 1/5) pupu)} Gl\//a(p) = gug (10.15)
The final solution is
vo ¢ vo e
GV (p) = 2 (—g +(1-¢) 2 > (10.16)

A particularly useful and easy choice of the gauge is the so-called 't Hooft-Feynman
gauge & = 1, which gives asa very simple photon propagator
o _igI/CT
Girn) = =5 (10.17)
This is very often used, although the general choice ((10.16)) can sometimes be useful,
since the parameter ¢ must disappear at the end (a physical quantity cannot depend on
the choice of gauge),, and so the general calculation represents a test.

10.2.2 Vertices

the next thing we have to determine are the Feynman rules for the vertices. We have to
do only with one such vertex, since we have only one interaction term in the Lagrangian

Lint = et (10.18)

We know how to determine the Feynman rule for this vertex. We are interested into
a diagram, where the component ¢ of a Dirac fermion with momentum p; emits the
component 7 of a Dirac fermion with a momentum p, and the component p of the photon
with momentum ¢q. We thus calculate the Green function in p space

/d:cdyde (Ve (@) (y) Ap(z)] e Protivevtiaz (10.19)

and then leave out all the three external propagators and the delta function. The result:

ie(Yu)en (10.20)
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10.2.3 Fermion loops

When using the Wick theorem we have often to interchange two fermion fields. Since
they anti-commute (different from bosons which commute), we get during such operation
an extra factor (—1). Let’s see more precisely when this happens. It is enough to have a
look to the only two possible cases to which all diagrams reduce to. In the first one the
fermion fields are external, in the second they are internal. Because of the conservation
of the fermion line (these are always continuous, which can be seen from the fact that
fermion fields appear, due to Lorentz invariance, only quadratically in the Lagrangian)
we cannot have a third case.
In the first case the part of the Green function we are interested in looks like

T el (o) [[ 1 [ dzeioz)o) (1021

where all the vertices in between are connected by the fermion line. It is not difficult to
convince oneself that there is no minus sign here.
The second case is the one with two internal vertices. We have thus a close loop

O|TH2 / dziedAy(z)|0) (10.22)

Here it is clear that we get exactly a factor (—1).
Let’s repeat: for every closed fermion loop we get an extra factor (—1). Of course the
whole loop must be fermionic, from the beginning to the end.

10.2.4 External legs

The last thing we need to specify is what to add for an external particles. This is something
new, which was not present in the case of a real scalar field. Let’s try to guess. We get
nothing of this kind for the case of a Green function, only in the case of the S-matrix,
which has been written in and which we want to generalise for the case of the vector
field with spin 1 A, (the photon) and of the fermion particle of spin 1/2 (the electron).
In the case of the real scalar field we expanded the external asymptotically free
field (which satisfies the KG equation) with creation and annihilation operators (py =

vm? + p? and m the mass of the scalar field)

) B . |
= | — —T T (p)e®” 10.23
60) = | i (alp)e™ + al(p)e™) (10.23)
Similarly we do with the vector field, which satisfies the Maxwell equations in empty
space (po |?] since the photon is massless)
d*p » ooy
Z / sz (@@ + d)e) (10.24)
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where A denotes one of the two possible transverse photon polarisations, €)(p) is the
polarisation vector which satisfies

puer(p) =0 (10.25)

we get for the free fermion field (the same relation between the energy py and the three
momentum p’ is valid as in the previous case of a free scalar field), which satisfies the
Dirac equation

Z / 2; 3;p0 (bs(p)us(p)e™" + dl(p)vs(p)e™) (10.26)

where s denotes one of the two possible spin choices for the fermion, b,(p) and di(p)
are the annihilation operator for the fermion (electron) and the creation operator for the
antifermion (positron). Similarly

Z/ 2: 3;p0 <(P)Ds(p)e™™" + l(p) s (p)e™) (10.27)

To find out which factors has to be used in the case of external fermions or gauge
bosons we have to remember how we reached the amplitude from the definition of
the S-matrix for the case of the scalar field.

Let’s take the example of two particles with momenta p; and py at the beginning, and
two particles with momenta ¢; and ¢» at the end. The amplitude is by definition

Alpripe = q1,¢) % (2m)'6 (p1+p2 — @1 — @) = (a1, 2 (S - f) p1, p2)
= (Ola(@)alaz) (5= 1) o (pr)al(p2)0) (10.28)

The part of the scattering matrix we are interested in has the appropriate number of
creation and annihilation operators:
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[ . 2 0|
%N [l} / dzip(2)i (07, + m?) = J(Zi)] W [J] -

1
= Z/dzl/d,za/dz?,/dzz; (1030)
dgkl + ik121 d3k2 1 ikozo
. / )52k, © e / )32k, ¢ F2)e

d®ks . d*ky ;
I k —ik3z3 k —ik4zq
% / (271')32]{'03a< 3)6 / (271_)32]{:0401( 4)6

x (02 +m?)...i (02, +m?) G2, 22, 23, 21)

= 1 / (2n)%2%k / ma (kr)a'(ky)a(ks)a(ks)
X (27T)454(k1 + /{32 — /{?3 — k4)Gamp(k17 k?g, ]{53, ]{Z4> (1031)

Uy
|
~

+

(10.29)

where amp means amputated (i.e. the Green function without external legs). From here
it follows

1
A(p1p2 = p3ps) = gGamP(plap27p37p4)(277)454(p1 + po — p3 — Pa) (10.32)

which we already knew.

The above derivation helps in the generalisation to external particles with spin 1/2
and 1. In this case what gets generalised is of course also the form of the S matrix (the
KG operator should be replaced for example with the Dirac operator, etc.), but on top of
this it is clear that we get the following extra factors, if we compare with ,

and ([0.27).

First let’s see the case of an external photon with momentum ¢ and polarisation A. If
it is in the initial state, we multiply the amplitude with

ex(q) (10.33)

while if we find ti as a final state, we multiply with its complex conjugated value

e\ (q) (10.34)

For a fermion with momentum p and spin s we use the following rules:
incoming particle:

us(p) (10.35)

incoming antiparticle:

vs(p) (10.36)



outgoing particle:

i,(p) (10.37)

outgoing antiparticle:

vs(p) (10.38)

Each fermion line in the Feynman diagram has an arrow, which points in the case of a
particle in the direction of the momentum (in the direction from initial state to the final
state), while in the case of antiparticles the arrow points in the opposite direction than
the momentum. We follow the rule to go in the Feynman diagram always in the opposite
direction of the arrow (which shows the fermion number current): we start first with the
outgoing particle, (us(p)) or incoming antiparticle (v4(p)), and finish with the incoming
particle (us(p)) or outgoing antiparticle (vs(p)). So, as required by Lorentz invariance, we
always have on the left spinors with a bar, and on right spinors without it.

10.2.5 Summary of Feynman rules for QED

Let’s shortly summarise the rules:

e fermion propagator

=

e photon propagator (covariant gauge)

5 (o ro-97)

p

e vertex

ie(Vu)en
e factor (—1) for each closed fermion loop

e incoming (outgoing) photon:

ex(@) (5 (9))

e incoming (outgoing) electron:

us(p) (s(p))
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e incoming (outgoing) positron:

vs(p) (vs(p))

10.3 Exercise 8

e Compute the amplitude for the Compton scattering ey — e~.
e Check that the amplitude vanishes if we replace €,(k) — k,,.

e (Calculate the scattering cross section, average over the initial spins and polarisa-
tions, and sum up over the final ones. Use the above behaviour for €,(k) — &, to
prove that the exchange

W v Rz
E :EAE)\ — g
A

gives the correct result.

e Check that in the limit w — 0 (initial photon energy) one gets the Thompson cross
section (a = e?/(47))

8ra’?

0' pr—
3m?2

10.4 The Ward-Takahashi equations

The original Lagrangian is invariant under the gauge transformation, but the need for
choosing a gauge destroys it. Of course the physical results should not depend on the
choice of gauge(«), since this is something like the choice of basis or coordinates. Because
of this nontrivial requirement the Green function satisfy special equations, which we call
Ward-Takahashi identities. These identities are automatic, it is enough to follow correctly
the Feynman rules in calculating the Greens’ functions, they are nevertheless useful since
they represent a possible nontrivial test of the calculation.

Let’s see how they look like. We can derive them form the definition of the generating
functional. In the case of QED we have not even write it down, since we derived the
Feynman rules directly. Let’s do it now. We introduce the generating functional for both
connected and unconnected diagrams

Z [ Jyym, 1] = exp (W [, 0, 77)) (10.39)
~ [ PADuDIen { [ (E 0.0+ 24,4+ 70)
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where the Lagrangian is divided into the gauge invariant piece and a pice which breaks
gauge invariance

1
L= Liny — — (0A) (10.40)
2€
while the factor N keeps the functional correctly normalised, Z[0,0,0] = 1 oz. W0,0,0] =
0.

The sources J,, are simple generalisations of the source in previous examples of a real
scalar field, they are now 4 instead of a single one. A word more is needed for the fermion
sources 7 and 7). Each of them has also 4 (Dirac) components, and we should be careful
on their anti-commutation relations. The quantities 7, 7, ¥, ¥ are not operators, since
we use the path integral, but they are Grassmanian numbers, which anti-commute among
themselves. So for example

o/
— | dzn(2)v(z) = Y(x 10.41
s | EEE = 0@ (10.41)
as we expect also in the boson case, but we get another minus sign for
) / - _
— [ dzv(2)n(2) = —Y(x 10.42
5o | 4PEmE) = () (10.42)

since the derivative operator (Grassman) needed to overtake the Grassmanian 1.
In the generating functional ((10.39) let’s transform the fields as

1
A, — AL =A,+ Eﬁua (10.43)
v — Y =€ (10.44)
b o= =ge (10.45)
and expand all to order a. The integrand in the exponent changes first by
1 1 _
— g(ﬁA)(?Qa + J“Eaua —ahn + tany (10.46)

and then, after after multiple integration by parts and the expansion of the exponent we
get

/ DADYDY (—%828/1 — dJ —ieln + z’emp) et d=(LAvDHIATInT) _ () (10.47)

With the known trick we exchange the fields in the integrand with functional deriva-
tives over the sources and keep into mind Grassmanian particularities ((10.42]):

S

1 2 o 6Z _Ap o 5Z L 6Z _
O iy~ O e gy Y g =0 108
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With the index ¥ we remind the reader, that we have to sum over this Dirac index.
Now let’s take a derivative over the whole expression

52
— . 10.49
dine(z1)din,(z2) ( )
and put all sources to zero: J, =n =17 = 0. The second term in ((10.48) vanishes, what
remains is
L oo B3z
- = . — . 10.50
£ i Faa)ing ()i 22) | (10.50)
8z 5z
— ef(zx—= — : —ed(r —x : — =0
) Sl ™ GG,
which is nothing else than
1 A _
FO20L OIT A, (@) (1) 2) ) (10.51)

+ed(x = wa) (O[T (21)0,(22)[0) — ed(x — 1) (0| T4 (21)8,(2)[0) = 0

We interpret the above expectation values of the time ordered product as on the left-
hand side of eq. (8.31]) and take into account the generalised definition of the time ordered
product ((7.55)) for fermions (with a minus)

(0

To@)bm)|0) = ©[p)bm)] 06 - )
— 0[P 00 - 1) (10.52)

as we would expect to be for (anti-commuting) Grassmanian variables. The Fourier
transform of the three point G.f. is

(0T Ay ()b (1) (5)[0) (10.53)

d* ) d4 ) d4 ‘
= /—(2734 elqw/ (2:;4 e~ 121 / #ewzxz (27T)454(p1 —py— Q)
X Gl ()5S )Gy |4 @ () (p2)] 57,2

where Géilp is the three-point amputated G.f., i.e. without propagators at the external
legs, while G® and S are the photon and electron propagators, all in p space:

0T 4u(@)As0)0) = [ Gz G (1054
OT @i, i0) = [ ke ™5, (1053
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Using (|10.16)) we get

FOROL 0T Ay @) () (a2 0) (10.56)

— ﬂeiqfﬂ d4p1 e~ 121 d4p2 P22 (94 54 .
- /(27r)4 /(27?) /(277) (27)°6"(pr — p2 — q)
X (=1)quSeer (p1)GE), [AM(@) e (p1)y (p2)] Spp(p2)

The second term in ((10.51)) is then

d4q ig(x—x d4p —ip1T d4p z T /
e/(2w)4eq( 2)/(%)146 P 1/(%)2 7272 (27)46% (p1 — ) Sep(p1) (10.57)

and get after the redefinition p, = ps + ¢

d4q iqx d4p1 —ip1z1 dp2 ipas 4
6/ (2m)t" / (2m)i© / (2m)i° (27)*6% (1 — P2 — 4)Scp(p1) (10.58)

Similarly the third term is first

d4q ig(z—x d4p, —iplz d4p ip2x
_e/(2ﬂ_)4€ q( 1)/(27T>14e D1 1/(271_)2 P2 2( )4(5( p2)SCP<p2) (1059)

and after redefinition p| = p; — ¢

d4q iqx d4p1 —ip1@1 d4p2 ipaza 4
_6/(27046 /(%)46 /(%) e?2(2m)* 0% (py — p2 — @)S¢p(p2)  (10.60)

After summing (10.56|), (10.58)) and (10.60|) and skipping all common factors

— quScer ()G, [AM (@) (D) (p2)] Sp(p2) + €Sco(pr) — €Sep(p2) =0 (10.61)

Multiply everything with

(871 (P1)) e (87 (p2)) 5 (10.62)

(implicitly we sum up over all repeating Dirac indices) and finally get

— 4uGon, [A(@)a(P)bs(p2)] +e (ST (P2)) 5 — € (S7H(P1)) 5 = 0 (10.63)

71



This is a Ward identity, which is valid at all orders in perturbation theory. Let’s check
that it is valid at the lowest order. Keeping into account (10.20)) and (10.7)):

— quie (V") 45 + 63252 o e]él — My (10.64)
i i

which is indeed true due to momentum conservation ¢ = p; — po.
During the derivation we assumed (|10.56]), which we know to be true at the leading
order. It turns out that it is always true, although we will not prove it.

11 Some new quantities (45 min)

So far we introduced the generating functional, the Green functions, the amputated G.f.,
both in z and p space, the amplitude, the S-matrix. From the practical point of view,
the amputated G.f. in p space, which becomes the amplitude once the external particles
are put on-shell, seems the most useful.

There are some more basic quantities, from which one can easily compute the G.f.

11.1 Generating functional for connected diagrams
In the previous section we already introduced the generating functional for both connected
and unconnected Feynman diagrams Z[J]:
Z[J] = exp (iW[J]) (11.1)

In calculations we always used only the generating functional for connected diagrams
W1J] and via
B oW J]
i (). i ()|,

computed the connected Greens’ functions.

G (xy,..., ) (11.2)

=0

11.2 1-point irreducible (1-PI) vertices

We divided the diagrams into connected and unconnected. The connected ones were all
those, which could be divided into two parts only by cutting at least one line in the
diagram (in an unconnected diagram we can divide it without cutting any line).

Let’s now define even more special diagrams: those which can be divided into two
parts by cutting at least two lines. Such F. diagrams describe 1-particle irreducible (1-PT)
vertices or G.f. n-point 1-PI vertices in p space will then be those basic blocks which we
mentioned before. We get them through the Legendre transformation

W[J] =T[¢] + /d:L‘J(x)gb(x) (11.3)
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As is W[J] the generator of G.f. of all connected diagrams, so is I'[¢] the generator of
all 1-particle irreducible vertices. We will check this on some examples.
The quantities J and ¢ are independent, so (by definition)

‘;VJV(E;’; o(x) (11.4)
el
5600) J(z) (11.5)

If we take the limit J(x) — 0, we obtain the vacuum expectation value of the 1-point
Green’s function

W]

ba(r) = —=| = (0]T¢(x)|0) (11.6)
6J(x) | ;_,
which is the solution to the equation of motion
oI'[¢]
=0 11.7
56al2) (0
In the limit of constant fields this is the vacuum expectation value (¢).
Generically
MW [ J]
L Ty) = 11.
Gl ) = S i) (11.8)
orr
C(xy,...,2,) = 9] (11.9)

0p(xq) ... 00(zy)

The second derivatives are thus

§2iW [ J] o do(x)  do(y)

Cwy) = Sweiit - ey - ai) (11.10)
_ Tl @) ()
Moy = 5wet) ~ doly) ~  delw) (i
and are inverses of each other.
/ dyG (z,y)T(y, 2) = / dy(—i)??g;(—l)gig; = id(x — 2) (11.12)
If we take a functional derivative

0 _ u5¢(u) ) _ 0 o 0

i = 5 s = | O (11.13)
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we get

/dyG(x,y,v)F(y,z)+/dy/duG(x,y)G(v,u)f‘(u,y,z) =0 (11.14)

Let’s multiply with G(z,w) and integrate over [ dz:

G(z,w,v) +/dy/dz/duG(x,y)G(w,z)G(v,u)F(y,z,u) =0 (11.15)

In the limit J — 0 the quantity I'(y, z,u) is obviously nothing else than (up to an
irrelevant phase) the amputated 3-point G.f. in z space.
We can get also the inverse (in some sense) of the above equation:

I'(y, z,u) /d:c/dw/dvF y, z)I'(z, w)I'(u,v)G(x,w,v) (11.16)

Let’s now take another derivative over i¢J(t). Using the equality (11.13) and taking
repeatedly into account ((11.15)) we get after some change of variable names

Glr, 72, 75, 71) /m/m/m/m

X G $1,y1 G(Imyz)G I3ay3>G($4ay4)
X Gamp(y17y27y3ay4) (1117)

where the 4-point amputated G.f. is related to the 1-PI one via

_iGamp(y1>y2uy37y4> = F(y17y2’y3’y4 (1118>
dz [ d2'T(y1,y2,2)G(z, 2)T(2', ys3, y4)

ifa= |
+ z‘/dz/dz L(y1,y3,2)G (2, 2)T(2, y2, ya)
+ z/ /dz L(y1,y4, 2)G (2, 2 )T (2, Y2, y3)

It is clear that the 4-point G.f. (11.17) can be divided into two parts cutting a single
line: we can cut one of the external propagators G(z;,y;), or, in diagrams of the last three

terms in ((11.18)), cutting the internal propagator G(z, 2).
Similarly we can continue to an arbitrary G.f. G, which can be always made out of

basic blocks, 1-point irreducible vertices '™, i = 3, ..., n and propagators G
All this can be easily translated into p-space. As usual we define these quantities as
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d4p —ip1T d4pn —ipn
G(l’l,...,],‘n) f— / (27r)146 P11 /(27)46 PnTn
G\

Apr). . GPp)
x  (27)** (p1+ ...+ ) Gamp(P1, - - -, Pn) (11.19)
d4p1 —ip1x1 d4pn —ipnx
C(zy,...,2,) = /(2ﬂ)4e P ”'/(27)46 P
x  (2m)**(pr+ ...+ pa) D(p1, ..., 1n) (11.20)

which gives for the above 3- and 4-point amputated G.f.

Gamp(p1,p2,03) = il(p1,p2, p3) (11.21)
Gamp(P1,P2,3,01) = il (p1,pa, s, p4) (11.22)
+ lf(php% — po) G(p1 + p2) iT(—=p3 — pa, D3, P4)
+ ZF(Pl p3, —p1 — p3) G(p1 + p3) il (—p2 — pa, P2, pa)
+ i (p1,p4, — p1) G(p1 + pa) il (=p2 — pa, P2, 13)

where one automatically takes into account that the sum of all momenta is conserved.

11.3 Exercise 9

e Compute the amplitude for the process ete™ — putu~ in QED at tree order.
e Write down all possible amplitudes for polarised fermions. In the calculation take

the approximation m. = m, = 0.

11.4 Exercise 10

e Calculate the differential cross section do/dQ2 and the total cross section o for un-
polarised fermions in the process of the previous exercise.

12 oo (6 h)

We have already encountered infinite integrals. They did not appear at the leading order
(in tree level Feynman diagrams), but only in corrections (loops).

12.1 Regularisation

The first step towards taming infinities is its regularisation, i.e. a redefinition of the
theory, so that everything is finite, and the original theory and infinities are recovered
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back only after some limit. The most used regularisation is the dimensional regularisation,
which conserves gauge invariance. Essentially the infinite integral in 4-dimensions gets
generalised into an integral in d dimensions, where d is not necessarily an integer. The
integrals can be evaluated for arbitrary d, and the results have usually poles for integer
dimensions. From here the problems when we take the limit d —+ 4 ie. e=4—d — 0.
Let’s see it more precisely for the case of ¢*. 2-point 1-PI G.f. is up to 1-loop order

11, . d*=<k 7
F(Q)(p2> m27 )‘7 6) = p2 - m2 + ;§<_Z>\> / (271')4_6 k2 — m2 (121)

The integral is infinite for ¢ = 0, since for large £ it is essentially f_Jr;o kdk. But this
is no more true for an arbitrary non-integer €. Let’s have a look at Peskin’s book:

/ 20k 1 (=D)"i D(n —d/2) \ _orapo (12.2)
( .

or)d (K2 — Ay (4m@2 T(n)

Let’s use it for our case, use the relations

Mx+1) = zl(x) (12.3)
11_1)%F(6/2) = 2/e—~v+ O(e) (12.4)

where v & 0.577 is the Euler-Mascheroni constant, and get up to order O(e°)

r@(p? m2)\e):p2—m2+)\—m2 2—7+1n47r+1—1nm2 (12.5)
B 2(4m)? \ e .
The expression is clearly divergent in the physically sensible limit of 4 dimensions.
Similarly we get for the 4-point 1-PI G.f. up to 1-loop

F(4)(pi7m27 /\7 6) =—A+ I(samgv )‘a 6) + ](t7m27 )‘7 6) + ](U, m2a )‘7 6) (126)
where
11 d*<k 7 )
I(p*,m2 \ :———'N/ 12.
(p7m7 7€> Z2< t ) (27T)4_€k2—m2(k—|—p)2—m2 ( 7)

and where we introduced the Mandelstam variables (remember that p; 4+ ps + ps +ps = 0)

s = (p1+p2)’=(p3+ps) (12.8)
= (p1+p3)* = (p2+pa)° (12.9)
u = (p1+ps)’=(p2+ps)° (12.10)

for which
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s+t+u=4m? (12.11)

(in general the right-hand side is equal to m? + m3 + m3 + m3).
We again make use of Peskin’s book. First we use

! /1d /ld 5 zn: 1 (n— L) (12.12)
_— = Ty... Tp T — )
A Ay Ly TV, = (21A] + ... + 2, A,)"

to get

I(p*,m? X €) A2/ ™k /ld ! (12.13)
m €)= — X .
Poms b€ =97 ) o<y R —m2 + (0 + 2pk)a]?

Eith a change of variables

K =k+xp (12.14)
we get rid of the linear term in k, so that we can use again eq. ((12.2)). The result is

A2 (2 !
I(p*,m? X €) = 2P {E — v+ Indr — /0 drIn (m2 —p?x(l — x)) (12.15)

12.2 Renormalisation

We regularised the two- and four-point 1-PI G.f., but they still remain infinite in the limit
€ — 0. Before performing such a limit we redefine the parameters of our model: m? and
A. We are allowed to do it, after all the physically measurable quantities are amplitudes
or 1-PI G.f., and not necessarily the parameters of the Lagrangian. Som we write

m? = m% —om’ (12.16)
A = AruZy (12.17)

With the index R we denote renormalised, i.e. finite, quantities. Of course we hide
all the dangerous terms 1/e in dm?, i.e. §Zy = Z, — 1, but in principle also something
finite can be added. There are infinite possible choices, and the physical quantities again
should not depend on that.

As we said, there is still a lot of choice to be done in defining and . mp
and Ag should of course be finite. We get rid of infinities if we choose for example the
following renormalisation constraints:

'@ m% m? X\ e = 0 (12.18)
T@0,m? \e) = —Agu (12.19)
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Formally dm? and §Z, are of higher order in coupling constant Az than m% or 1. This
means that

Aem% (2 m2
om? = — R(Z_ In4r +1—1n—2 12.20
m 2(4r)? (e v+ Indr + n,u2 ( )
3)\3 2 m2
07, = —— [ Z— Indr —In —2 12.21
’ 2(4r)? (6 yme n;ﬂ) 12.21)

Let’s define now the renormalisation functions Fg), which are functions of the renor-
malised parameters as (as we will see later, this definition can be slightly changed in more
general settings, but in our ¢* example at 1-loop it is ok)

T (pi, m, Ar) = T (i, m?, \, €) (12.22)

So the renormalised 1-PI G.f. (we came back to four dimensions in the meantime, i.e.
we took the limit € — 0)

Ty (p* m¥, Ag) = p* — m} (12.23)
ie.
Ly (pimi Ar) = —Ar + Ig(s,m3, Ap,m%) (12.24)

+ Ig(t, m%, AR, m2R) + Igr(u, m%, AR, mZR)

where we used

A2t P —pPa(l—
Ip(p?, mi, \,m3) = — /daslnml ol =) (12.25)
0

2(4m)? m3

12.3 A further complication: field renormalisation

We saw that the corrections to the two- and 4-point 1-PI Green functions are of the form

p(2)(p2’m27 e = pP—mP+ 1(2)(p2,m2, A €) (12.26)
T (p,m* N e) = A+ 1D (p,m? N e) (12.27)

In the ¢* case to 1-loop it was enough to renormalise the mass and the coupling
constant. At two loops or in slightly more complicated theories it turns out that also 7(?
is a function of p? and in fact proportional to 1/e. In this case we have to renormalise
also the field

¢ =7, or (12.28)
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This must be done even in the case with finite I?)(p?) (but infinite in the e — 0 limit).
This can be seen in the following way. Let’s define m%,; as

@ (m%y,, m? N e) =0 (12.29)

In our above examples we had m% = m%,;, but this is not necessarily always true.
The residuum of the pole of the propagator is not 1 in general, but

dre
(p*,m* A €) =Z;' #1 (12.30)

2,2
pT=Mpoy,

For such cases the equation for the amplitude is invalid. In fact we derived it for the
correctly normalised (Z, = 1) fields, for which the KG operator transforms the external
legs into a ¢ function. Let’s call such a field ¢r and its source Jg. The source J of the
non-canonically normalised field ¢ can be defined as

Jror = Jo (12.31)
from where

J=2;""Jn (12.32)

Schematically the amplitude is

(n) - (02 2\1"m 0 "
AW i (P +m?)] () WA
0JR Jr=0
= Z"[i(0* + m»)]" G™ (12.33)
Taking into account
n 2)1"™ ~(n

G~ [GP G (12.34)

and

—i(82—|—m2){ g; } N { 1Z¢ } (12.35)

eq. (12.33)) becomes

A ~ ZpPGm (12.36)
On another side
G™ ~ (") = Z3GY (12.37)

from which it follows that (12.33]) can be written
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A~ g (12.38)
as we expected.
The renormalised 1-PI G.f. is defined after comparison ((12.33))-(|12.38]) as
D% (pim, Ar) = ZL(m2 N, 0™ (pi,m?, A ) (12.39)
The renormalisation constraints are
T (m%, m3,Ag) = 0 (12.40)
dF(Q)
dp’; (mp,mp,Ag) = 1 (12.41)
T'W0,m%, A\r) = =—Ar (12.42)

from which we can compute dm?, §Zy and §Z4 = Z, — 1.

12.4 Counter-terms

We can exchange the bare quantities m?, A, ¢ with the renormalised m%, Ag, ¢r can be
done from the start. The bare Lagrangian

1 2 1 50 Ay
_ = _Z - = 12.4
L= (067 — gm?e* — (12.43)
can be replaced by a sum of the renormalised Lagrangian
1 1 ARUS
Lp= 5(&251%)2 - im%ﬁz - —Z',u o (12.44)
and counter-terms (CT)
1 2 1 2 2\ 2 AR 2 4
CCT = §5Z¢<a¢3) 5 (5Z¢mR Z¢5m ) ¢R T (Z)\qu ].) qu (1245)

We consider these new terms as real Lagrangian terms, derive from them the Feynman
rules and take them into account in the Feynman diagrams. Clearly they are formally of
higher power of the coupling constant Ag. We can expand them in powers of the coupling
constant (the coefficients can of course be singular in 1/¢)

dm® = OmiAp+ O0mIAG + ... (12.46)
675 = 6Z\Ap+ 023 %+ ... (12.47)
0Zs = 0ZspAr—+0ZpNp+ ... (12.48)

and should thus be formally taken into account at the right power of \g.
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12.5 Different renormalisation conditions (schemes)

The renormalisation conditions above are not unique. We can choose them differently,
and indeed this is what we often do. Let’s now shortly describe the so called M S scheme,
which is used especially in QCD.

We do not have here any constraints in special kinematic points as before, but we
determine the counter-terms simply from the requirement of getting rid of all terms 2/e —
v+ In4r. The name M .S means minimal subtraction, the bar added is because on top of
the divergent terms we included also the above finite terms.

In the previous ¢* case would this mean

Arm2 (2

2 R''R

= — - — In4 12.4

om 2(4r)? (e v+ 1In 7T) (12.49)
3\ (2

Zy = ——=|—— In4 12.

07 STETSE (e v+ In 7r> (12.50)

67y = 0 (12.51)

Of course the renormalised 1-PI G.f. look different than before

2 2

2)/.2 2 _ .2 2 ARMYp, mg
FR (p >mR7>\Ra,u) = p"—mr+ 2(471')2 (1_IHF> (1252)
T (i3 Ars i) = —Ar + Ir(s,mb, Ag. %) (12.53)

+ [R(ta m%«b )\Ra ,uz) + IR(ua m?%a )\Ra “2)

However we have to remember that now mg and \g are something completely different
from before (different numbers).

12.6 Exercise 11

e To the ¢* Lagrangian add a fermion and the terms

b (i = my) b~y (12.54)
e Compute a correction to the vertex ¥1)¢ at one loop and renormalise y in the M S
scheme.

e Calculate the vertex ¢® at one loop and show that it diverges.

e From here it follows that we should have added already from the beginning a term
M @3, and the renormalisation of M would cancel the divergence of the vertex ¢?,
which appears at one loop, similarly as the renormalisation of y cancels the diver-
gence of the vertex 1)e.

e What happens in the m; — 0 limit? Why the vertex ¢* in this case does not get
generated at one loop for M = 0 7 Which is the symmetry that forbids it?
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12.7 Renormalisation group equations

The above expressions are a bit surprising at first sight, since it looks like the physical
quantities depends on an extra arbitrary parameter p, which entered into the result via
dimensional regularisation and the requirement of dimensionless renormalised coupling
constant. This would have usuallyﬂ happened even in theories without any mass param-
eter: renormalisation itself generates a dimensionfull factor, which we call dimensional
transmutation. This way or another, the dependence over the unknown p is only ap-
parent. We will show that the renormalised parameters (m%, Ag in the MS scheme)
depend also on p, so that the total effect gets neutralised and the physical quantities are
independent of p.

To check this is of course important, but we will get another bonus. We will in fact show
that we can, using this trick, resum up an infinite series of dangerous large logarithms,
which show up in some kinematical limits, and so save the perturbation expansion.

Let’s start recognising that all bare parameters are independent on .

dA d

0=p—=p— (ArpZx(A 12.55
p “du( RIS ZA(AR, €)) (12.55)
From here we get the equation
d)\R aIIlZ)\(/\R,G)
A — 14+ = 12.
EAR + 1L i ( + AR hr 0 (12.56)

The ansatz for the solution is an expansion in positive powers of the renormalised
coupling constant (higher orders become important only and the level of two loops or
later)

dA\r

= — ANg+BX + ... 12.57
i RT DAR + ( )
Taking into account ((12.50) we get
d\r 3\%
— = —€A —= 12.58

Now we can safely take the limit ¢ — 0 and get an equation, which describes the
change of the renormalised coupling constant with the scale p.

dAr 30%

Wi T Gy

The expansion in powers of Az on the righthand-side is called the g function. The
equation can be integrated

(= H0w)) (12.59)

Ar(to)
Ar(p) = ~ 3a(m) 1. u (12.60)
1 2 In o

Sexcept in conformal theories
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Increasing the scale we arrive at a singularity, since the beta function is positive. This
means that the coupling constant gets increased with the scale at which we measure it. Of
course the approximation breaks down before we reach the singularity, called the Landau
pole, since A\g becomes large enough so that we cannot stop the expansion at one loop
level.

The same can be done with the mass:

dm? d
0= u% =g (m2% — 6m®(m%, A, €)) (12.61)
from where
dm? d\ dm? 1 2
0 duR + (m%ud—; + Agpt duR) 2(ir)? (E —v+ 1n47r) =0 (12.62)
Similarly as before we expand
d 2
;ZR =Chp+ ... (12.63)
and using ((12.58)) we get at first order
dm2 )\R
i d,uR = (47T)2m% (12.64)
the solution of which is
2
m
mp(p) = nlto) o (12.65)
1 — 3Aro) 1, &
(4m)? )

12.8 An explicit example

Imagine we have an accelerator of particles ¢, which we postulate can be described by
our old friend, the ¢* Lagrangian. We are interested in elastic scattering of two particles
(this means that the number and type of particles at the beginning and at the end are
the same).

The incoming particles have momenta in the centre-of-mass system (let it be equal to
the laboratory system)

P = (£,0,0,p) (12.66)

while the final particles have
py = —(FE,psin6,0,pcosb) (12.68)
Py = —(FE,—psinb,0,—pcosh) (12.69)
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where

E? —p*=m? (12.70)

and m? is the pole of the propagator. At tree order this is just the mass parameter of the
Lagrangian, while at the one loop level this is m% defined via in our case, or via
in general. This is also the mass felt by gravity in the Newton’s law.

Imagine we can somehow measure the scattering cross section o, in the limit where
the initial particles have a very small momentum (this is usually hard since it essentially
mean that the initial particles do not move, so there is no scattering; we will imagine it
as a kind of limit). We choose this definition only to get simpler equations, in the real
case we measure in a different kinematical point. In this convenient limiting (p — 0)
kinematical phase space point the Mandelstam variables are

s o odmd (12.71)
t — 0 (12.72)
u — 0 (12.73)

At tree order the amplitude
I (p;,m, \) = =\ (12.74)

is independent of momenta. Since we measure the cross section, we have to evaluate the

phase space etc. from formula (9.20)). The result is

rop
77 64nE? ~ 6AnE?
The coupling constant A is determined from the measured o.,, in the limit ((12.71)-
(112.73]):

(12.75)

)\2
ap = ———— 12.76
Terr = Garm? ( )
So in general
mA 2
= Ceap (E) (12.77)

Imagine now that we are not happy with the precision of comparison between theory
and experiment. In this case we can use the results of the next approximation, i.e. in the
one loop approximation. For the renormalisation constraints we choose —,
so that the expression for the 4-point Green function is given in (12.24]). This is in the
kinematical point we measure — equal to (we have to evaluate the integrals

of type ((12.25)))
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)\2
T — g+ 2 12.78
exp Rt ( 47‘(’)2 ( )
When squaring I'®we should not take into account the largest power A%, since this is
already of higher order (if we calculated up to two loops, we would have also the order
A3 in (12.78)), which would, multiplied with the tree order, give also the same power), so
that

(4

! A —2 A (12.79)
Oexp = "7 5 Y .
P 6dmm \UF T (4rr)?
Through this equation we calculate the value of Ag. If it is small enough, i.e. if
AR
o 1 12.80

the perturbative expansion of the Greens’ functions converge and the computation is
consistent.
We calculate the scattering cross section in an arbitrary kinematical point using ({9.20))

and (12.24)), where however now A\p is numerically fit through ((12.79)).
What if, instead of ((12.42]), we had used a different constraint, for example in the limit

@27 @)

Y — — (12.81)
Then
»
exp — Aa. 9 12.82
Texp 647Tm%¢ ( )

As we see, the numerical value of N, is different from Ag, the final result however is,
the same, up to corrections formally of higher order in powers of the coupling constant.
Numerically the physical result (the scattering cross section as a function of momenta)
can slightly depend on the choice of the renormalisation scheme, but the difference is, if
the convergence is good , small enough .

What if we use instead the AMS scheme? To avoid extra complications, let’s use this
scheme only for the coupling constant, while let the mass be still the propagator pole:

rY = p?—mk (12.83)
Fg) = _)\R(:u) + IR<57 m%%u )\R(M)a N2>
+ IR(tvm%b)‘R(ﬂ)nuz) +[R(U,m?3,)\R(H),,M2) (12'84)

The coupling constant Ag(p) is now, differently from previous one, the running one,
dependent on the parameter p through the renormalisation group equation ((12.59). We
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should not worry about it. Using the same procedure as before we get first in the limit

([12.71)-([12.73)

Mh(1) 1
| SR (14 3In—— 12.85
exp R(:U’) + (4’71')2 +oln mp ( )
At pu = mp we have the same expression as before, see (|12.78))
Ak (mR)

F(4) = —)\R(mR) +

exp ~

(a7 (12.86)

so Ar(mpg) is numerically equal to Ag, which is got through eq. ((12.79). When we integrate
(12.59), we take into account the following boundary condition:

. )\R(mR)
AR(N) - 1— 3>\(}ZS:)H2R) hlmLR (12'87>

The careful reader can now ask, if the last expression can be maintained in this form,
or if it should be expanded in powers of Ag(mg), as usual. But here there is a difference,
since we have here also In (p/mpg), which could be in principle large. If it is small enough

Ar(MR) 1
amz on

one can safely expand to quadratic order, insert it into ((12.84]), and get

<1 (12.88)

F(4) (pi, m%, )\R) = _)\R + [R(S, m%, )\R, m%{) (1289)
+ IR(ta m%{) /\R7 m%{) + ]R(ua m%{? AR7 m%{)

totally the same as . In this case there is no difference between the original scheme
and the M S scheme.

Once get a difference however, when is not satisfied, but is. This is
obviously possible only at very (exponentially) large ratios p1/mg. In this case the solution
of the RG equation helped to sum up all powers

(AR(mR) In i)n (12.90)

(471')2 meg

which appear at the level of n-th loop. Of course these n-th loops for n > 1 has not been
calculated, but the solution of the RG equation allows us to resum these dominant terms
in this limit.

The careful reader will obviously be again confused. Why should we use at all these
large (or small) ratios u/mpg, after all we said we are allowed to (at least in principle) use
any such ratio. Such a reason could be for example the behaviour of the cross section at
very large energies, for example when s/m% — oo. In the case the correction to
tree order— A would be of the form
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M s
In — (12.91)
(4m)* " mp,
and this number is not necessarily less than one. Higher terms would contribute higher
powers

A s \"
<(47r)2 In m%) (12.92)
and the expansion would not converge.
This problem is solved with the running coupling constant and the use of
for 4 ~ E. Then the ratios

)\R(mR) S "
SERELVAN P 12.93
Somr (12:95)
which appear in ((12.85)) and eventually at higher orders, are small enough not to spoil

the convergence. Of course we included all these contributions of higher orders into the
running coupling constant

)\R(mR)
Ar(E) = T Dl | B (12.94)
(4m)? mpg
The whole procedure converges under condition
Ar(E)
1 12.95
(47)? < ( )

which is not true if we are too close to the Landau pole.
We see that resummation saved the perturbative expansion in the case of very large
(or small) energies. This is why the scheme with running coupling constant is useful.

12.9 Exercise 12

e Compute the differential unpolarised cross section for e = — e~ p~. Make use of
the results for eTe™ — p™p~. In a similar way use the known results for Compton
scattering ey — ey to calculate the cross section for annihilation ete™ — 7.
Comment the ”crossing” symmetry.

12.10 Exercise 13

e Consider the system with interaction Ao¢i¢,. If the corresponding masses satisfy
m, > my + mgy calculate the decay width I', at tree level. Show that at the first
nonzero order in A the optical theorem is valid
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m,T, = Im (T2 (m2))

where ' (p?) is the 2-point 1-PI G.f. for o.

13 Quantum electrodynamics up to one loop
(1h30min)

In this section we will use the method of counter-terms, all quantities will be renormalised,
but for simplicity we will write them without the sign R.
The tree level renormalised Lagrangian for QED is then (we choose the Feynman gauge

§=1)

-, — /2T 1 1
L = Pidhh — mpp + ep*hfep — £ (0uA — 0,A,)? — 5(aA)2 (13.1)
while the counter-terms are of the form
T n €/2,7. 5Z3 2
Lor = 0 Zohidhp — dmaptp + 6 Z1ep “1pA) — T(auAV - 0,A,) (13.2)

We consider these new terms as small perturbations. They are formally of higher
order in powers of the coupling constant (67; and dm are order €), so we consider them
as interaction. We write for them the following Feynman rules

e counter-term for the fermion propagator

i (8Zsp — 6m) (13.3)

e counter-term for the photon propagator

— 1073 (p2gw, — pup,,) (13.4)
e vertex counter-term
i6 Zyeu !y, (13.5)

We check the first one by considering the whole quadratic part of the fermion

(1+0Zy) iy — (m + dm)dn)

Clearly the propagator is in this case
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(1+0Zs)p — (m + om)

If we now expand, we get (take into account that (M;My)~t = My M 1)
l 1
W—m)+ (0Zp—om)  (F—m)[1+F—m) (022 — om)]

which coincides with the above rule.
It si not difficult to check also the complete quadratic photon term

1+0Z3
4

(O~ 0,0 = 504

gives the following propagator

—1 Pubv
(1+ 0Z3)p? (g‘” + 04 p? )

which can be expanded

—Zg v —’Lg @ . @ @ _Zgﬁz/
2 T Tz (e =)

as with the above rules.
The vertex correction is obvious.

13.1 Electron propagator
The one loop contribution to it is usually denoted as

N

which gives for the 2-point 1-PI G.f. for the electron

Ffi) (p) =p—m+ 0Zyp — dm — X(p) (13.6)
Now let’s calculate:
Ak i —1g
—3 — (ieu?~> aB (. e/2 B 1
iX(p) = (tep”*y )/ n)if—m (k= p)? (iep?~7) (13.7)
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As common we use the identity

I k+m
k—m_kQ—

The definition for the v matrices

77"y = 29"

is valid in arbitrary (also non-integer) dimensions, so (g%, = d)

V% = d
1Y = —(d=20"

We first get

it dk  —(d—2)f+dm
Hlp) = icy / @m)d (2 — m2)(k — p)?

and withe the usual trick

:_w“/dm/ ddk —(d = 2)f + dm

—m2(1 —z) + (p* — 2kp)z]?

We introduce a new variable k&’ = k: — xp (and skip the prime)

X(p) = —ie’p / dx/ ddk —(d — 2)xp + dm

—m?(1 —x)
(d—2)zp+ dm

+ p?x(l — a:)]2

_ e _ -
G re d/2)/0 [m2(1 — z) — p2a(1 — x)]*~/*

- ° (¢4m)<§’y+ln4ﬂ)+2(1)

(47)?
Compare with (13.6) and get in the M S scheme

2 2
0y = (:T)<——7+1n47r)
2 2
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13.2 Photon propagator

All contributions at one loop order (with counter-terms included) can be written as

_Zg v _Zg a [ -17a «a o _ZgﬁV
p;‘ + pz“ [i11%° (p) — i6 Z5 (p* g™ — p™p”)] R (13.17)

where (remember the (—1) factor for the fermion loop!)

iHaB(p) - (_1)/(d§6 (k‘i‘ﬁﬁ /f/27a%i zeﬂﬁ/Qvﬁ)
_ _ez/f/ ddk TT[(%+¢+m)7a(k+m)75]
(

21 [(k + p)° — m?] [k2 — m?] (13.18)

We need to generalise the dimensionality of the v matrices for d dimensions. We can
define completely consistently

Tr(l) = f(d) (13.19)
Tr(v*9%) = fld)g*” (13.20)
Tr(v*9%9") = f(d) (979" — g™"g"™ + g™ g™") (13.21)
with the only constraint that f(4) =

We get

Ak 2k°KP + kopP + pokP + (m? — k(k + p)) ¢*°

() = () / i

W [k ] ]
_ 2 ¢ ddk‘ 2kkB + kopP -}-pakﬁ 4 (m _ k‘(k‘ +p)) g*#

We again introduce a new variable &' = k + xp (and again we skip the prime)

iM*?(p) = pef(d /da:/ ddk ! 5 (13.22)

—m? + p?z(1 — )]
2 (Ol s et )

where we used the relation

k}2

kKB —
dg

(13.23)

which is of course valid under the integration.
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Let’s now check if the photon gets a mass due to one loop corrections. This would be
catastrophic, since it would mean the breaking of gauge invariance. As we will see, noth-
ing of this happens, which confirms our belief that dimensional regularisation explicitly
conserves gauge invariance.

We would potentially get a mass term in the p — 0 limit of the above expression. It
follows

10%(0) — —ey / / A%k m? + 2/d;)2;)

m

, (2—d/2) I
" () 1324)

—i dT(2—d/2-1) (1>
N s T () ]

= —pc f(d)g*”

Using ((12.3) the result is exactly

i1*?(0) = 0 (13.25)

as we expected (and hoped).
Now let’s see also the divergent pieces. In the proof of a massles photon we showed
that

/ d'k m?+(2/d— D)k _ (13.26)

G (@ —m)p

From here it follows

'k m’ 4+ (2/d-1)K [ d%k p2x(l —2)
/ (2m)4 [k2 — m2 + p2a(1 — z)]? = / @) k2 — m? + pPa(l — 2))° (13.27)

and then

, 2e2uc f(d)i e\ ! x(1—x)
ined (p) = —2C PN (2 e jasy T (-)/ da 13.28
( ) (47T)2—€/2 ( ) 2 0 [ —p .T(l I)]C/Z ( )

The limit € — 0 gives
raf 4 e 2 _af o, B 2

il (p) = ~I3 ) (p*9*” — p*p”) -7+ Indn +0(1) (13.29)

We require that 673 in (13.17) exactly cancels the divergent pieces:

4 e? 2

043 =—= - — In4 13.30
1= 3 (2 -+ ) (13.:30)
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13.3 Exercise 14

e In the MS scheme show that in QED Z; = Z5 at the one loop level, which follows
from the requirement of gauge invariance

Da = aa — z'eAa = 8a — ieRARa

13.4 Exercise 15

e (Calculate the anomalous magnetic moment of the electron in QED at one loop.
Compare the result with the latest measurements and theoretical predictions in
PDG (to be found in [6]).
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